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Important Instructions :
1.

The Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out
the Answer Sheet and fill in the particulars on
side-1 and side-2 carefully with blue/black ball point
pen only.

. The test is of 3 hours duration and Test Booklet

contains 180 questions. BEach question carries 4
marks. For each correct response, the candidate will
get 4 marks. For each incorrect response, one mark
will be deducted from the total scores. The maximum
maxks are 720.

. Use Blue/Black Ball Point Pen only for writing

particulars on this page/marking responses.

. Rough work is to be done on the space provided for

this purpose in the Test Booklet only.

On completion of the test, the candidate must

hand over the Answer Sheet to the invigilator
before leaving the Room/Hall. The candidates
are allowed to take away 1:-1115 Test Booklet with
them,

. The CODE for this Booklet is Q5. Make sure that

the CODE printed on Side-2 of the Answer Sheet is
the same as-that on this Test Booklet. In case of
discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both
the Test Booklet and the Answer Sheet.

. The cand1dates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Test Booklet/
Answer Sheet. '

Use of white fluid for correction is NO'T permissible

on the Answer Sheet.
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Identify the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.

(1)  Streptococcus pneumoniae / Widal test
(2) Salmonella typhi / Anthrone test

(3) Salmonellatyphi/ Widal test

@  Plasmodium vivax { UTI test

Which of the following pair of organelles does not
contain DNA?

~-(1) . Chloroplast and Vacuoles
(9) Lysosomes and Vacuoles
(3) Nuclear envelope and Mitochondria
4  Mitochondria and Lysosomes

Which of the following can be uzed as a biocontrol
agentin the treatment of plant disease ?

(1) Chlorella
(2  Anabaena
(8) Lactobacilius
(490 Trichoderma

Due to increasing air-borne allergens and
pollutants, many people in urban areas are
‘suffering from respiratory disorder causing
wheezing due to:

(1)  inflammation of bronchi and bronchioles.

(2)  proliferation of fibrous tissues and damage
of the alveolar walls.

(3) veduction in the secretion of surfactants by
pneumocytes.

(4  benign growth on mucous lining of nasal
cavity.

Xylem translocates :
(1) Water and mineral salts only

(2) Water, mineral salts and some organic

nitrogen only
3) Water, mineral salts, some organic nitrogen
' and hormones
4) Wateronly
Cells in G phase :

(1)  enter the cell cycle

(2)  suspend the cell cycle
(8)  terminate the cell cycle
(4)  exit the cell cycle
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7.

10.

11.

12.

Which part of the brain is responsible for
thermoregulation ?

(1) Hypothalamus

(2) Corpuscallosum
(3) Medullaoblongata
(4)  Cerebrum

Which of the following immune responses is
responsible for rejection of kidney graft ?

(D Humoral immune response

(2) Inflammatory immune response
3) Cell-mediated immune response
(4)  Auto-immune response

What is the site of perception of photoperiod
necessary for induction of flowering in plants ?

{1) Pulvinus

(2) Shootapex
3) Leaves

(4) Lateral buds

Which of the following statements is correct ?

(1) Cornea consists of dense connective tissue
of elastin and can repair itself.

(2  Cornea is convex, transparent layer which
is highly vascularised.

(8) Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.

(4) Cornea is an external, transparent and
protective proteinacious covering of the
eye-ball.

Which of the following statements is incorrect ?

Q) Claviceps is a source of many alkaloids and

LSD.

(2) Conidia are produced exogenously and
ascospores endogenously.

(8 Yeasts have filamentous bodies with long
thread-like hyphae.

(4  Morels and truffles are edible dehcacles

Which of the following is the most important cause
for animals and plants being driven to
extinetion ?

(1) Drought and floods

(2) Economicexploitation

(3) Alienspecies invasion

(4)  Habitat logs and fragmentation
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18. Which of the following sexually transmitted | 3. 2R e%oﬁﬁ TOTBEHOT DO CI0ss ﬁ;m@gﬁg‘g
diseases 1s not completely curable ? XoTPRETON rOEERETIHHEY ?
(1)  Gemtal warts 1) B8 TEE
(®  Genital herpes O due Berw
(8) Chlamydiasis @ WIRCIRATS
4  Gonorrhoea (4 nIeedolw
14, Which of the following ecological pyramids is | 1 & F9NT TOROUE &HTDHMNTY - 0Rmymd
generally inverted ? ' mm5 oo 3@@’5?@?\&35 ‘?
(1) Pyramid ofenergy 1) ﬁi&ﬂ: QTN
(@)  Pyramid of biomass in a forest &) DomE Ba0es WOk
o i ot ) o @) AINTB z%&)ﬁca& QTENT®
(3) Pyramid of biomassin a sea @ SRS ﬁomé iy
(4) Pyramid of numbersin grassland
| - | 15, ReToody CRTRIF) et Bpedw 3odhny shed
15. How does steroid hormone influence the cellular 3o IREIT 9
activities ? ' (1) DNA&ne3R wololmh @By BoTwmed—
(1) Binding to DNA and forming a TXRAZ Boderor I03OBFT.
gene-hormone complex. @2 BT JedodPToE ZgT AMP oD,
2) Aci;ivﬁting cyclic AMP located on the cell FO350SeORRPRTR.
membrane. - @) ORIROT TOBINTTY, QIR
(3 Using aquaporin channels as second ﬁmﬁmaﬂﬁﬁ*ﬁmﬁ 0T Oﬂmrfﬁﬁaﬁ!a@é%@m
messenger. @ Eee3 Fded &)N%Oﬁbﬁb 2ITICTROA R TR,
(4) Changing the permeability of the cell
- ————— 16. PRSY oinz 239,030 FoONSOIN HDTodecH 9
D) DIRET BTEEY
16. Which of the following muscular disorders is 2 mm%&m TR
inherited ? 3 REORo
(1) Mu'smﬂar'dystrophy @ @R
@ Myaaf‘henia gravis 17. 903 LOTDBOITY TYT AFN
(3)  Botulism wmm@ﬁmmﬁ S SUNTHNEOT ©3,03
(4 'Tetany wﬁmcﬁ fws@wm 03y A -
o ‘ (1) WYFRIIF a%eaﬁ&mw zﬁmmmmm
17. Grass leaves curl inwards dqrmg very dry @ mon mfﬁn:}rf@e:r“;ﬁtﬁﬁ mm P
weather, Select the mostapproprlate reason from ﬁ} i"i} 2
the foll{}wmg : : © 3.3 neast #
(1)  Flaccidity of bu.lhform cells - Ei; ;;asjgﬁg%w f&&;ﬂd BEOD
(2)  Shrinkage of air spaces in spongy mesophyll 4
(4) Closure of stomata ﬁ&cﬁbfcﬁ: ? : -
1) PP LomNT 2R FOCIRMNRNZR.
18. What is the fate of the male gametes discharged @ 2.0 womstwad ®ed Jocdeenneond,
in the synergid ? IR0 (VFEYTR)) FFTTBEI
(@  One fuses with the egg, other(s) fuse(s) with @ 2.0 womrdd Bed Fockeennieword,
synergid nucleus. TRRETD Seonieinedn dneddeonis Bod
(3)  One fuses with the egg and other fuses with ﬁom{ﬁm%ﬁd'
central cell nuclei. @ 80w womprLS Bed plelesioi{atatoleiciel
(4 Onefuses with the egg, other(s) degenerate(s) taﬁ*'qu oo (‘ag‘:&@w@) ﬁéa’wzgw‘?j%
in the synergid. BBSETBLOTDII/E.
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19.

20.

21,

22,

__‘,Thmbaczﬁus 15 a group of bacteria helpful in
“carrying out

(1) ._Chenidéﬁfotiﬁphic fixation
(2y  Nitrification

(3) Denitrification

{49  Nitrogen fixation

A gene locus has two alleles A, a. If the frequency
of dominant allele A is 0.4, then what will be the
frequency of homozygous dominant, heterozygous
and homozygous recessive individuals in the
population? ..

(1) 0.16(AA); 0.24 (Aa); 0.36 (aa)-
) 0.16 (AA); 0.48 (Aa); 0.36 (aa)
(3) 0.16 (AA); 0.36 (Aa); 0.48 (aa)

@ 0.36(AA);0.48 (A2); 0.16 (a2)

‘Match the Colurnon - I with Column - 11 ;.

Column -1 Column - 11
(a) P-wave (i}  Depolarisation of
ventricles
b QRS complex (ii) Repolarisation of
ventricles
(@@ T-wave (i) Coronary
ischemia
(d) Reductioninthe (iv) Depolarisationof
size of T - wave atria

() Repolarisation of
atria’

Select the correct option. -

@ (b © @

® W O &

@ G O @ @
® @ G ©
@ @ 0 6 @

In a species, the weight of newborn ranges from
2 to 5 kg. 97% of the newborn with an average

" weight between 8 to 3.3 kg survive whereas 99%

of the infants born with weights from 2 to 2.5 kg
or 4.5t0 5-kg die. Which type of selection process
is taking place 7 - :

(1) Stabilizing Selection
(2)  Disruptive Selection
(3) Cyclical Selection

(4)  Directional Selection
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(49  0.36 (AA); 0.48 (Aa); 0.16 (aa)
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23.

24,

25.

26.

27.

Consider the following statements :

(A) Coenzyme or metal ion that is tightly bound
to enzyme protein is called prosthetic group.

(B) A complete catalytic active enzyme with its
bound prosthetic group is called apoenzyme.

Select the correct optmn :

(1) (A)is trie but (B) JS fal&e.

(2) : Both (A) and (B) are false.
(3) (A) is false but (B) 13 true'._- ¥
@  Both(A) and (B) are true, -

Placentatlom in whlch nvules develop onthe inner

‘wallof the ovary or in peripheral part, is:

1 Axile -
@ Parietal
(3. - que central -
(4) Basal - t

Which of the foﬂcWing'sfatémEnts is not correct ?
(1) The hydxolytm enzymea of lysosomes are
active under ac1d1c pH "

(2). Lysosomesare membrane beund sﬂuctures

(3) Lysosomes are formed_by-the process of
packaging in the endoplasmic reticulum,

(4) Lysosomes have numerous hydrolytic
enzymes.

Phloem in gymnosperms lacks :

(1)  Sieve tubes only

@  Companion éellsonly”

' (3) Bothsieve tubes and companion cells

@  Albuminous cells and sieve cells

Which of the statements given below is not true

about formation of Annual Ringsin trees ?

() Differential activity of cambium causes light
and dark bands of tissue - early and late

wood respectively.

(@)  Activity of cambium depends upon variation
in climate. |

(3) Annualringsare not prominent in trees of
temperate region; '

(4  Annual ring is a combination of spring wood
and autumn wood produced in a year.

25.

26,

27,
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28.

29.

30.

31

32.

Drug called ‘Heroin’ is synthesized by :

‘(1)  acetylation of morphine

@  glycosylation of morphine
(3)  nitration of morphine .
(4) methylation of morphine

Polyblend, a fine powder of recycled modified
plastic, has proved to be a good material for :

(1)  use as a fertilizer

(2)  construction of roads

(3) making tubes and pipes
(40 making plastic sacks

Which of the following pairs of gases is mainly
responsible for green house effect ?

(1)  Ozxvgen and Nitrogen
@  Nitrogen and Sulphur dioxide
(3) Carbondioxide and Methane

@  Ozone and Ammonia

Which of the following statements is incorrect ?

(1)  Viruses are obligate parasites.

(2)  Infective constituent in viruses is the protein
coat.

(3)  Prions consist of abnormally folded proteins.

(4)  Viroids lack a protein coat.

Use of an artificial kidney during hemodialysis
may result in :

(a)  Nitrogenous waste build-up in the body

28.
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BADNT FWOFPRE, F0NFRT TN 9
(1) CRRIT DI FTRIT

@ SHed DI RogEs Bt o

@ aomon Buf o DI e

@ LR T BRI

3 S90S BePINTY PR TOWHY 9

(1) BJFed $03O BOITLOY LeARTON.

(2) Bt 3WAER E%Cﬁm“'"ﬁ*’é@ RRCODTTE
YOTTINTVBT.

B)  SOSRRNL WBTHTN DFItR0BHT
VRN, BoLE,

@  FooonETi DRkl ¥ BLoDILHOY.
SRABOIRGATS FRONTY 33T BRZHORT
wmodeent FOZ0ZT

(@) TeTY TWRRI'0ING T/WBNG

() Non-elimination of excess potassium ions RIS
(¢  Reduced absorption of calcium ions from ) :;2;}5 ﬁ:{‘:w;fo‘ﬁo BOIRBINT DY,
gastro-intestinal tract &9 =) |
@  Reduced RBC production- © :z:a;;or;mgzgg RO0N0 BOSHRNY
Which of the following options is the most @ RBCT¢ Soinotond) 4r08
appropriate ? ._ .
| RooIRE BFCDY, ok TR
(1)  (b)and (c) are correct A .
' O HBH (©nw B
@  (¢c) and (d) are correct o o it @ S ge
(8) (a)and (d) are correct G () ma; (d)Red 8O
(4} (a)and (b) are correct @  ()sE (b)red 20
collegedunlau
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83.

34.

35.

36,

Match the following hormones with the respective
disease :

@ Insulin (@) Addison’s disease
(o) Thyroxin (iiy  Diabetesinsipidus
©  Corticoids (@) Acromegaly
d) GrowthHormone (iv) Goitre
v} Diagbetes mellitus

Select the correct option.

(@& M) @© @
M @ v @ O
@ & (v O @
@ @ v O @)
@ ® O @

Consider following features :

(a) Organsystem level of organisation
() Bilateral symmetry
{©  Truecoelomates with segmentation of body

Select the correct option of animal groups which

possess all the above characteristics.

(1)  Annelida, Arthropoda and Mollusca
(2  Arthropoda, Mollusca and Chordata
(8) .Annelida, Mollusca and Chordata

(4  Annelida, Arthropoda and Chordata

Respiratory Quotient (RQ) value of tripalmitin is :

I 07
@ 007
® 009
@ 09

What would be the heart rate of a pexrson if the
cardiac output is 5 L, blood velume in the ventricles
at the end of diagtole is 100 mL and 4t the end of
ventricular systole is 50 mL ?

(1) 75 beats per minute
(2) 100 beats per minute
(3) 125 beats per minute
49 50 beats per minute

8

33.

34.

35.

36.

[English+Kannadal

FONTT CRTRINTR, ORINg Tonsod Bedn
BRODA

@ DO ) eaIFs g
® Booss G) Bodeueier
BT AQOGE
©  FLFORNW (i) @3Ppdmd
@ BODER CRBRB (v)  MeoNwT”
) Boiposes
DO
p.dalers it '&3%053&4 EﬂOﬂ% S0 :
@ b ©© @
O @ m @ o
@ & G @ @)
@ @ G @ @)
@ @ O G @

Z 39S ORI, TNk -

(@ -©on d%aﬁ*" ol SR B’ Eﬁf‘iF’F%ﬁEﬁEf
) QFRZFT Rang
© DdmooE Bemontos Kedn VOBIONER

0e®

81 eI THRNTR, BROOT TRENT BoIRT
rHORT BT, eeky BR.

1) SeohRosnD, OPTORD D) WGONTD
2) RORWORLD, TTONND FoB) FOBFER .
@ BoodBoST, MWTEARD DY) BEFER
@ BOOHBVOTRLL, NOQTONKD ) T e
@émmwa‘ﬁ wATIR Fonow RQ) ©
O 07

@ 007

@ 0.09

@ 09

) [B0P FOBFOTT BRTTRETODTOIN
5L, 28330 deScinen HoETNYY |oed
T3 TReeorwg 100 mL eh3) SS0uRET ROHUIS
3pB0DQ 50 mL worwws ¢ FFOH BEORT
BB, 9

D TS @S, T50R3
@ T3 AWK, 100283
@) B AWRE, 125083
@ TS IMTE 50063
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English+Kannada 9 Q5

37. Match the following structures with their | 37. 39nDHa dz&a’ﬁ@:*m% RN VT Lonne B3N

respective location in organs: 2008 :
(@  Crypts of Lieberkiihn (i) Pancreas (a) iﬁﬁ ST @) HerdeeRess nod
()  Glisson’s Capsule i)  Duodenum 3 6230‘75363‘ |
(¢  Islets of Langerhans (iii) Small b) DRSS G (@) ‘HodReRT0
| intestine ©) 'mﬁoﬁtﬁ‘aaa‘q_ﬂdﬁ (i) ﬁ%ﬁ&%‘b

(d) ‘Brunner's Glands Giv) Liver Q&Emﬁ%ﬂ)
Select the correct option from the following : @ WRRCT nodnsd @) o30g,3°

@ M © @@ nOCIRT ‘33%053@4 505% ool i
@ G : ; @ b @© @

ok ® @ G @ G
@ @ v O @ @ G @) @ .
@ @ @ O @ @ @ O

@ @ O @

@ @ @ @ W ; _
38, BOYOI ReTOFONRPBTY, Wod0WOT

38. Select the correct sequence. of organs in the STOPROLY, LONNY TOERE RBRESEODT

alimentary canal of cockroach starting from wol, T,

aputhy | | - )  TRROFT, - HJ/RRFAT — MR, -

(1) Pharynx — Oesophagus — Gizzard — olxol — HRO0PDO > ZHEOT —
Crop — Ileum — Colon — Rectum <3enBo

(2) Pharynx — QOesophagus — Gizzard — @ FO0F, — HRXpFPNA - hwo, —
Ileum — Crop — Colon — Rectum H#O0D0 - HCZ0E — e -

(3 Pharynx — Oesophagus — Ileum — VIO |
Crop — Gizzard — Colon — Rectum @ TRPOT, — SBpeBnnt - sdoho —

(4 Pharynx — Qesophagus — Crop — wBE0W — h&T, — irae@af—é-;ﬁﬂaéoda
Gizzard — Heum ~> Colon = Rectum @ wooF — BRePrm - 20T0W -

ARTS — SO0, - BT —TOTHICN
39. Which one of the following equipments is | | |
essentially required for growing microbes on a | 39, 55”?571%* '%ﬁa&’ﬁqmaé o5 oRrIN 2%5@9 gmmag

large scale, for industrial production of enzymes ? mgﬁf e, 23S TEOTOTED E}_ﬁ% T VBT
(1)  Sludge digester B FPNTYNEQ TR ?

@  Industrial oven (1 &ﬁ; @633;:;&0‘ -

(3) Bioreactor @) faozs?é ONSF L

4) BOD incubator @  woleedodeTo

@  Dha. ATHBET

40, I\E[atf:h the hominids with their correct brain 40, ZHDIETE #e 3% OPRY X .

8178 .
@  Homohabilis ®  900ce Jﬁfj.; xogé@ﬁ ——
(®  Homo neanderthalensis (i)  1350cc © @ecxee @ 1350cc
©  Homo erectus = (iii) 650-800cc qu@:y@@%ﬁ
@  Homosapiens (iv) 1400cc © Zecdee K057 () 650-800cc
Select the correct option. @ Ieetee TeLodT () 1400cc
@ b © @@ BOIRE B2 000T) S0y BPA :
®» @ @ 0 W " Ea)) Eb)) g) EFI))
; i o 1. 11 1 v
@ @& w0 W @ @ ™ O @
@ Gv @) O W @ (v @) @ 9 G
@ @) O G @ @ @ @& G @
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Q5
41.

42,

43.

45,

10 |_Eng1ish+l(anr_1§.n;:la|
Which of the following statements regarding 41, &éé&meﬁaogoimﬁ ROLoHATOS B8 IPAT I
‘mitochondria is incorrect ? Beododn BOOHY 2
() Enzymesofelectron transport are embedded 1) BRORGE Mzﬂoja@ @@E&Q’ TRTRSE LAY
In outer membrane, TIHAEROG.
(2) Inner membrane is convoluted with @ wynEd FTedodw T @’aa‘“o;ﬁaaa_’ﬁ
infoidings. AN T LA O et AT
(8 Mitochondrial matrix contains single @  ByEeeTOROITT  DIVTFOIN' w0k
circular DNA molecule and ribosomes. wEreoeFmUTEw DNA % @0 g9
- .
4)  Outer membrane 1s permeable to monomers S ﬁmmfﬁmﬁféa‘b BN,
of carbohydrates, fats and proteins. Gy é\-ﬁ-’ Ond ow 50533 FFETHTTYT0 >
DIOFRETITN O, BRWINOT  ToTY
The frequency of recombination between gene pairs Rpedearne DR,
T he same chromosome as a measure of the | 45 Fogmrny FEOT GoITWRY, Yo
ERRESNas S DR Y BRREOBZNDS, 200 Brar 300 AR
(1)  GregorJ. Mendel WOTaod HRBANE IR IR0 LeHTD
(2)  Alfred Sturtevant SO &)Eﬁﬁﬁ%&éﬁ% .
. o’ :
(9  SuttonBoveri M) " 2. Someroozs
2 @% i s g etk elela
¢4)  T.H. Morgan @ AW REBeO0WOT
@) 8.3, BeRrToon
What is the genetic disorder in which an individual
has an overall masculine development, | 43. 8&F FI0I0 etzpBoimn TOTITOFED BROOTY,
gynaecomastia, and is sterile ? xS YIS (Gynaecomastia)odwoln
(1) Klinefelter's syndrome FATH ercﬁ TONOIN0BT WOTwold WDIID aﬁaﬁé
| | odaa@::in ?
2  Edward syndrome @ % 6w o @%—a =S
(3) Down’ssyndrome @ oBFEF @ﬁmd@
(4)  Turner’ssyndrome @) T 0ERsY
@ BT O3RN
T}EIIE imrter and lm;ger irtms ni: a submetacentric 4,  Zer-twAoUT ROF3oBR ﬁ% m@ WE%
chromosome are referred to as: mﬁaﬁaﬁaﬁi oo wgfmmmgd :
() p-arm and g-arm respectively 1)  OWFTITN PR DR LRI
(2)  g-arm and p-arm respectively 2 oRFHEN LRI DB P-2305
(3) m-arm and n-arm respectively @ OWEHTN M-I S0, n-25E
_ @9 OVFTTN 8- I 1-250E
4) s-arm and l-arm respectively
45, T IBE IR ﬁﬁ@ﬁ &Eﬁfzﬁﬁmea‘d e3asednint
Which one of the following statements regarding ROWORAT B IFNT Tewdn ?‘#@ ABIBRT
post-fertilization development in flowering plants ZOOHY 7
is incorrect ? 1) o e BERdn Rromh3s.
(1) Zygote develops into embryo 2) Beog Bemdeedy PRFoT00mN ﬁ@aﬁs@ﬁ
@)  Central cell develops inte endosperm mom%‘d _
_ (3 worEINYD. Pwr Zowolwh wBdmdn
3)  Ovulesdevelop into embryo sac ﬁ.@DEﬁJ%&ﬁ.
(4)  Ovary develops into fruit 4 oSN ety BRI BothIT.
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46.

47,

48.

49,

80,

81,

| (3

2

@

Which of the following features of genetic code does
allow bacteria to produce human insulin by

-recombinant DNA technology ?

0y
)

Grenetic code is redundant
Genetic code is nearly universal
Genetic code is specific

@

Genetic code is not ambiguous

Identify the cells whose secretion protects the lining
-.of gastro-intestinal tract from various enzymes.

() Goblet Cells

(2) Oxyntic Cells
3)  Duodenal Cells
4  ChiefCells

The ciliated epithelial cells are required to move
particles or mucus in a specific direction. In
humans, these cells are mainly present in -

W
@
@)
@

Fallopian tubes and Pancreatic duct

Eustachian tube and Salivary duct

Bronchioles and Fallopian tubes
.Bile duct and Bronchioles

The concept of “Omnis cellula-e cellula” regarding
cell division was first proposed by :

(1)  Theodore Schwann
(2>  Schleiden

(3)  Aristotle

4y Rudolf Virchow

DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1)  Chilled ethanol
(2)  Methanol at room temperature
{8)  Chilled chloroform

(4)- Isopropanol

Which of the following is a commercial blood
cholesterol lowering agent ?

(1) Statin

Streptokinase

(3) Lipases
Cyclosporin A

11

46.

47.

49,

50,

al.

W

2)

Q)

Q5
QYNTY IPo FoFe3T oIm mtened
LB e00INTY TRIT R DT,

mm‘ﬁooiraezaé BT .69, Eo?zs;gd mmcgd
ATLONTONT 9

BY0D Kodezw) w0y

BEOD TOFLB) TBTRW BT
2P0 BoFeST NOFY

3P0 Zode3F) @ﬁo&ﬁ

@
&)
@

ERNTOT Ol ReBNY FRED BeFmE ONERTT
WHODR, QLT OedoR SENYOT TIX0BLS ‘)

(1) riraz;w‘ gResnes.

2  w30u% Bnesnwd

(3) acleclRe doesngh
(4) BT FeeIngd

AeSRon A%E whodeD? 2nesn RN VY
0T WIATD, VST e IIIY %Jmajoé
mmw SRETIY B nesnied B0 DTN
AT :

D) BOWDENH DI Boerdneeds KoY
) CORLIOHNT To% W ¥y To¥

@  zposecdmeennisd ) BOWTIVTD

@B WBTeY D) tweseodmeenrish

Wewmdwed QywIn OO WWOZ A0
Heam*‘ N@%&?—Q ww 3%55:’0 SRTILN
w@mﬁraiﬁéﬁﬁﬂdﬂ :

Q)  polRerT” T
ST

WOTVEICT

tﬁame:fﬂ AR Inttend

®)
@

DT weany COTFONOT B0 .: ek eves
FORROBTYH, AWO0TS LVTIBATN :
2eBITORRT ATrR®

@) BRER NWFBHYHT NPT
(B)  2e30eE0RmRT BgedpesRD,
@ ReVeTwer

NP CBPRTH L EON Gﬁcﬂ ﬁreﬁ"‘wf
BRI Domw wedotsE 9

O
2) "n}; egex
3) E‘.‘3 DT ﬂ%

@ = ﬁmmﬂjaeaas@ A

T
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52 -

12

Pinus seed cannot germinate and establish

without fungal association. This is because :

(1)  ithas obligate association with mycorrhizae.

{2) it has very hard seed coat.’

(3  its seeds contain inhibitqré that prevent

53,

54.

55,

56.

57.

-germination.

4)  its embryoisimmature.-

Extrusion of second polar body from egg nucleus
OCCUrs : )

(1)  after fertilization

(2) " before entry of sperm into ovum

(3). simultaneously with first cleavage

(4) after entry of sperm but before fertilization

Variations caused by mutation, as proposed by
Hugo de Vries, are :

()  random and directionless
(2)  small and directional
(8 small and directionless
(4 random and directional

" Purines found both in DNA and RNA are :
(1) Adenine and guanine -
{2  Guanine and eytosine

(3)  Cytosine and thymine
(40  Adenine and thymine

Select the hormone-releasing:Intra-Uterine
Devices.

(1)  Muitiload 375, Progestasert
(2) Progestasert, LNG-20

(3) Lippes Loop, Multiload 375
@  Vaults, LNG-20

It takes very long time for pineapple plants to
produce flowers. Which combination of hormones
can be applied to artificially induce flowering in
pineapple plants throughout the year to increase
vield ?

(1)  Gibberellin and Cytokinin

(2)  Gibberellin and Abscisic acid

(3  Cytokinin and Abscisic acid -

(4) Auxin and thﬂene

52,

53,

54.

35.

56,

57,

| English+Kannada|

TSRS Vex dVeoFW ITHRIQRET

ReYELABOINZOY B :;%a;é.rﬁm%mdm. AT

TTD :

) OB DRBRTRT Bed vLBY ABTH
BRODTTT,

@ O $Z03T NERWT 20eesEd EPoOITHED.

8) ©UT Wexm NVNRITOILTBOINRYTIY,
8200070 @%uqtﬁ%ﬁ@ﬁ% ﬁmoﬁtbgﬁ.

4) T PR tﬂmamgﬁaﬁmgﬁ.

38000 3, 3RIEOTHOT QRecd PRFICHII

WIIEIIPT

(1) NEETolsod NOE0

2)  DOIRFED WORHNATY JSeBECT WHOW

3 @qﬂﬁo 2e9d (Cleavage) Bndcgodhe

4 DoIFFN I FJTW FoIU «wo
NG TRTHBNCS DR

BFR,MR B Q0F00D T ITROTOW,

NFORBFENALOT YOOLRT PN

(D odmcﬁﬂ%%mmﬁ FB WFH O3 TeodY

@  BETRNE ) dOFF HFCLOETRNDZS

3 asﬁﬂc%ﬁai =B 3}63?%__533 BROOY

@ oYvem W Ewenw WY  ADFH)
BZ0INEENHES

B.OT 0. WY ST.OF.Q.NYTECOR TOBWT

BROTNYOTT :

D) a3 ey I
@ MRT DY FRERT
@ R B3y HEdT
@ R D) FT

'dﬁti@@ﬁ@m% RERNTRPIDT 9085-Ngor 30
RTBATR), BOAL.

) BYBee 375, BREARTE

@  Bpgupmers, LNG-20

@ Oex e, m@&@mew 375

@ o, LNG-20

BLOPRTT), WIITRB FToTS' RFRAWD
WIVOPE SREODT, ERDROWFBOOT, TpTeseF
ARAYY SAFORC FFLN TAT) NABBOF Yoy
QRBOODTY, BYHVOTONLY CIWTW TRTESNT
aﬁme@odamﬂ 2ERUTHIT ?

1) ﬁ%ﬁeﬁa‘ e ﬁéﬁmeﬁé{i}a‘

@ BRI WHH, SYRT ¥R

(3) ﬁﬁ@e%&w‘ THT) BWAT SR
@ S DR 2RI
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|English+Kannada 18 Q 5
58  Which of the following is true for Golden rice ? 58. 833 @%ﬁ KOLIORATOZ B FUNSINTY cdHTH
(1) It is pest resistant, with a gene from ﬁsﬁ ?
Bacillus thuringiensis. 1D /W Jx, BI0RPITND, LYHOT”
| + + BOO0BCTYAIRVOT  HOTWLCIROTSY,
(2) It is drought tolerant, developed using '
. BROLTHT,
Agrobacterium vector. .
. 2 mdm@ ﬁ:&oxgmﬁda &?ﬁi@%f&&iﬁo
{3 _Ii_; has vellow grains, because of a gene mﬁﬁﬁm WYY BT %ﬂm@ RoONG,
introduced from a primitive variety of rice. @ e % o 7 ﬁf 3 3003R0BO0T T 0BT
@  Itis Vitamin A enriched, with a gene from ROTEBELOWOTION B T @% ﬁ:%?‘i@i’b
daffodil. BRODTHIT.
@ QW QWY @ FOTWRNATY,
59. Select the correct group of biocontrol agents. FFRABCVOT TOoTTEOIROT ‘533
- | ﬁﬁoﬁmsﬁ
(1)  Trichoderma, Baculovirus, ; |
Bacillus thuringiensis - 59. 280¥ QOHOZETRTINGT FOWORATOZ BOWRT
O  Oesiliatri Bl Trkadsris B PR, BO WoB.
O &, Fecamr, mﬁ:ci‘@m’ oi-«, mdﬁ?ﬁ
(8)  Nostoc, Azospirillium, " DT HEOOYT
¢ = .
Nuglaopalshegroviys ) @»@&i@fﬂaﬂa Cg}&ifo"fzﬁoi)o gdmwmr
@ Bacillus thuringiensis, Tobacco mosaic (3 aax:agf @elRel 000, -
virus, Aphids ﬂﬁédﬁ/@&ﬁ?@f ﬁ@,&go}ﬂ | |
@ YRV FOTTHOINVRAT, BRWIN
; RHFOORT® ﬁédm e LTE
60. Selectthe correct option. T
() 11thand 12thpairs of ribs are connected to B0, g _EE%Q;‘}FQ{ 303% m@' : ol :
the gternum with the help of hyaline 1 118 5053 12 53‘? Bl “ﬁmmﬁ%
cartilage. BORST 53%?&30& Eplevwaicielny f it aa vy
(2) Eachribis a flat thin bone and all the rib RESHTONTE SRO0E |
achribis afla one an e ribs :
are connected dorsally to the thoracic @) E'E“%mom aj‘%mm @e:omﬁaﬁ% W DT
vertebrae and ventrally to the sternum. aﬁ@mmﬁ% 33’?33 AN @-@U%ﬁﬁg AT AD
& T T B3N awﬁs- TBROVTR, =B ﬁmﬁo&a
ere are seven pairs of vertebrosternal, 5
three pairs of vertebrochondral and two pairs mﬁgé Ipras Zedn.
o e _ ‘ Ak ﬁmeE@oc@@ a:’c@b @d:ﬁa Red
(4) 8_ , 9 ar_ld 10 pairs of ribs articulate aﬁ&-ﬂr W %@mmﬁ% “&5
directly with the sternum.
| 4) e, 98¢ m:og 10 [e B ﬁ%ﬁb&:&ﬁ%ﬁ
| ﬁeﬁmﬁ ARFR® B3R woildrols,
61. Which of the following contraceptive methods do
involve a role of hormone ? 61. IYNTHNYY m@m ptataratetnlint. DERTNED
; — — — . CRTRIIVAFNROTE TWSBZ, &aﬂr&owgaﬁ Y
1) Pisil?er method, Lactational amenorrhea, @ s ﬁmﬁﬁ%’o_ i@dmwgﬁé a_ﬁ,eaa__:m&*ga’
B&E, WIOINW
) CuT, Pills, Emergency contraceptives @  CuT, m@-{%, 3)&5_-5@%3 RRENBRCTERD
(3)  Pills, Emergency contraceptives, Barrier @  =dne, @&FE"J@P&Q R QBReEND, BE:
methods QDTOINGD
(4)  Lactational amenorrhea, Pills, Emergency ) ﬁﬁ_&bf@}ﬁﬁ Teo? gj:.@m&w 3%, BRI,
contraceptives DRETWOYS Nge DTREGERD
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52.

64.

6o,

In Antirrhinum (Snapdragon), a red flower was
crossed with a white flower and in F; generation,
pink flowers were obtained. When pink flowers
were selfed, the Iy, generation showed white, red
and pink flowers. Choose the incorrect statement
from the following :

(1) Pink colour in F; is due to incomplete. |
' dominance.
1 . 1
(2) Ratioof F,is Z (Red}: 7 (Pink) 1 (White)
(8) Law of Segregation does not apply in this.
expermment. '
(@  This experiment does not follow the Principle

of Dominance.

The correct sequence of phases of cell cycle is :

H G —=2G,—=8-M
2 S—=2G—-2G-oM
3 G —=-8—-G—->M
@ M-o2G >G-S
Concanavalin A is :

(1) anessential oil

2) alectin

{3) apigment

@  analkaloid

Match the following organisms with their
respective characteristics:

@ Pia @} Flame cells

b) Bombyx (i)  Comb plates

©  Pleurobrachic (i) Radula

d) Taenia (iv) Malpighian

tubules

Select the correct option from the following :
(@ (b)) © (@@

O G dv @ o

@ W @ Gy o

@ W W o® o

@ w @ © @)

14

62.

63,

64,

65.

|English+Kannada|

SO (MFTENT) NBTD, BoTHBAROTRY
RYOH BRI Beg wFmocamn Fy Heernicdd
THTRW 20T m@wm% HEODCROWNB). ThHeY
WET BRFNFR, XBecdh [URNIBERRVITIN,
Fo &eonicdd 29, 30 I roowd 280
BRATEY, BCIRTAB. B3 FENT Fevdnvon O
Eﬁﬂﬁmﬁbﬂl 02 ¢

L Fy weerodh mhowwd wegd ®ue omnes

TWLE,
: L.

@ F, 598 olTIR) by (o)
E m By l @
1 (ToeRy) - 4(2:} ).

@ BeTERION D B BodRENTY
SPCRTDHOE,

@ TpodoRd TFIIIY, T Wodeenwy
BDIORFO. |

ReNEACT BWIB BOINY XOCIRE FRWONRICI :
(1)
2)
(3
4

Gi—5G;—>S—->M
§>G > G,—>M
G, —=-8-G,->M
MG =G, —>8

ﬁafﬁﬁaw@w R DT 2.0

1) oS53 éét'!
@ S

8) orore

@  SQUoLT,

TENTOE ReNIRY, YRHNOR FowoHAasw
ranewolin Brooha.

@ oo O moedeesnw
®  ewows i) B3R Sene
© ;gdmfm_@ﬁémﬁa (i) mém@ -
@ sedatm @v) HROELER
Nz 2t
BO0IRT e PR, o WB 1
(@ (b @ @
B @y Gv @ @
@ @ v @ O
@ @ @ @ @
@ @ @ @O @

-
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66. What map unit (Centimorgan) is adopted in the

67.

68.

69,

construction of genetic maps ?
(1) A unit of distance between two expressed
genes, representing 100% cross over,

(@ A unit of distance between genes on
chromosomes, representing 1% cross over,
® A unit of distance between genes on
chromosomes, representing 50% crogs over.,
4@ A unit of distance between two expressed
genes, representing 10% cross over.

From evolutionary point of view, retention of the
female gametophyte with developing young embryo
on the parent sporophyte for some time, is first
observed in :

(1
@
(3)
@

Mosses
Pteridophytes
Gymnosperms

Liverworts

Select the incorrect statement.
() Inbreedingis essential to evolve purelines
in any animal,

@  Inbreeding selects harmful recessive genes
that reduce fertility and productivity,

(3  Inbreeding helps in accumulation of superior
genes and elimination of undesirable genes.

@

Inbreeding increases homozygosity.

Tidal Volume and Expiratory Reserve Volume of
an athlete is 500 mL and 1000 m1, respectively.
What will be hig Expiratory Capacity if the

Residual Volume is 1200 mL ?
(1) 1700 mL
@  2200ml,
3) 2700 mL
4  1500mL

15
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66. [oZmeks FINY SokwocNG TorERoS

67.

68,

89.

TP (Centimorgan) ez 9

I 100% @%ﬁaomaﬁodami CIRINAE AT
VRTIIOL 2T WOTTLNE TR
WOSTHL Te3B,
1% @%moﬁm&@oﬁaﬁaﬁt T EJH T,
BEFBORNY DT RBOBebne QEATATY
BOI0T 3B,

50% @@ﬁa@&’m&)ﬁ@dﬁa@l TBAQE,
[eOFBoBNY HedHB BoZmolony RVIENERTY
BO30T FTFes. |

10% @%moﬁmaﬁwm‘a& TSGR,
CPFEROW ATB> [oBmLNY BT
BOBTT Teis.

2
&)

@

DFDRCOD cﬁﬁ&mm’&od BnerdmmA, RT3
LCITVENLITT :ﬁ%cj mes_ aseﬁojaagum aadas%auamr
RART BRd ALO0TREDRNE AR, 30 BUEHR
w‘mma&mm& mgmw@ Lo 'rfwam;as% :
(1) mmgg

(2) ﬁ:]z;d mﬁwg

8)] @maﬂés memﬁ%ﬁ@@

@) odaﬁﬂ%mfmdrﬁ Hows xﬁﬁﬂqg

RocheR Beodonm, vofy mna.

1) w939 FoTIrSodn oSmwTie TRESORY
soc;ps@wmgl ?saaarngci.

LYEY BODTTrBodn ToDII0F TRLF®
'so“osm%ori@émd SOZIT3 B @@mgé DN
waadﬁéoﬂam% TR a‘mw)gﬁ.

w¥Se FomoeForw SBECRAN DOV
ﬁwaﬁm&ﬁ%‘aﬂl &w&maﬁngﬁ aiaég @ﬁaﬁfga"
ﬁoam&owmﬁt m&Fzz’ogcﬁ. '

W¥3¢ Jowomrdodn ﬁﬁaoiwriéaﬂami ézégj

RS,

@

&)

@

52), STTROT GUIRF-ITWT TocomI L
VTRT Fon®MSW TEwen 500 mi, xS
1000 mL. Trows Bemasoodd Moy 1200 mL
AFT OTE DX RRTGERY 03 9

1) 1700 mL,

2y 2200 mlL

3) 2700 mL

4 1500 ml,
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0.

T1.

T2.

73.

16

The Earth Summit held in Rio de Janeiro in 1992
wascalled:

(1) for conservation of biodiver sity and
gustainable utilization of its benefits.

@  to assess threat posed te native species by
" invasive weed species.

@ for immediate steps to discontinue use of

CFCs that were damaging the ozone layer.

@ to reduce CO, emissions and global
warming.

Persistent nucellus in the seed isknownas:

(1) Perisperm
2 Hilum-
(3) .. Tegmen
@  Chalaza

Select the correctly written scientific name of
Mango which was first described by
Carolus Linnaeus:

(1) Mangifera indica Linn:
@  Mangiferaindica
(3) Mangifera Indica

(4  Mangiferaindica Car. Linn.

Select the correct sequence for transport of sperm
cells in male reproductive system.

(1) Seminiferous tubules — ‘Rete testis
" 5 Vasa efferentia — Epididymis
=y Vas deferens — Ejaqulator}r duct

—> Urethra — Urethral meatus

@)  Seminiferous tubules — Vasa efferentia
— Epididymis — Inguinal canal
— Urethra

(3) Testis —» Epididymis — Vasa efferentia
— Vas deferens — Ejaculatory duct
— Inguinal canal - Uzrethra
— Urethral meatus -

(4) Testis — Epididymis 5 Vasa efferentia
— Rete testis—Inguinal canal — Urethra

70.

| 71

T2

73.
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() Mangiferaindico Linn.

2 Mangiferaindica =~

(3)  MangiferaIndica

(40 Mangiferaindicg Gar. Linn,
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() ANDFHEOD SVENW - O a'%ws@ st
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79.

76,

77.

78.

79.

Under which of the following conditions will there

be no change in the reading frame of following
mRNA ? '

AACAGCGGUGCUHUU 3
(1)  Deletion of G from 5% position

2) InsertionofA and G at 4th and 5th pogitions
respectively

(3) Deletion of GGU from 7th gth gnd gtk

positions
@  Insertionof G at 5 position

Which of the following protocols did aim for
reducing emission of chlorofluorocarbons into the
atmosphere ?

() Kyoto Protocol
@ _Gothenburg Protocol
(3) Geneva Protocol

(44  Montreal Protocol

Colostrum, the yellowish fluid, secreted by mother
during the initial days of lactation is very essential

to impart immunity to the newborn infants because

it contains :

(1) Monocytes

@  Macrophages

3 Immunoglﬁbulin A
@  Natural killer cells

Conversion of glucose to glucose-6- -phosphate, the
first irveversible reaction of glycolysis, is catalyzed
by :

(1)  Hexokinase

(2) Enclase
(3)  Phosphofructokinase
(4)  Aldolase

Which of the following factors is responsible for
the formation of concentrated urine 7

(1)  Maintaining hyperosmolarity towards inner
' medullary interstitium in the kidneys,

Secretion of erythropoietin
Juxtaglomerular complex.

(3) Hydrostatic pressure during glomerular
filtration.

@ Low levels of antidiuretic hormone.

2

Which of the following glucose transporters is
mmsulin-dependent ?

(1) GLUTL
2) GLUTII
Gy GLUTIV
4 GLUTI

-by'
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76.

7.

78.

79.

74,

75.

Q5
& IR BouoeR WOBNYY chodcd 39N
mRBNA o é.,csow 3@5355@ DD wERRR
WRBCRNRD 2
5 AACAGCGGUGCUAUU ¥
1 53RO Geﬂm ERDTRHRRTH
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Q5.

81.

. ©

82,

83.

84.

@
)

Select the incorrect statement.

(1)  Inmale grasshoppers, 50% of sperms have
no séx-chromosome.

@  In domesticated fowls, sex of progeny
depends on the type of sperm rather than
ege. |

(3 Human  males have one of their
sex-chromosome much shorter than the
other,

(4)  Male fruit fly is heterogametic.

Match Column - I with Column -IL

Column -1 Column -I1

Saprophyte (@)  Symbiotic association of
fungi with plant roots
Parasite (i} Decomposition of dead
organic materials -
Lichens (i) Livingonliving plants or
' animals ;
). Mycorrhiza (iv) Symbiotic association of
algae and fungi

Choose the correct answer from the options given

below :

@ b @© W

H G @ @

@ @ 6 @

@ @@ @ G o

4 © ) G )

Which one of the following is not a method of

tn situ conservation of biodiversity ?

(1) Wildlife Sanctuary

(2) Botanical Garden

(3) Sacred Grove

(4)  Biosphere Reserve

_ In some plants, the female gamete develops into
embryo without fertilization. This phenomenon
s known as :
s Parthenﬂcarpy

(2) Syngamy

(3 Parthenogenesm

4 Autogamy

What is the direction of movement of sugars in

phloem ?

(1) Upward

&  Downward

(3)  Bi-directional

(40  Non-multidivectional

18
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85.

86.

87.

88,

Match the following genes of the Lac operon with.. |
-their respective products :
(a) igene @  p-galactosidase
b) zgene Gi) Permease
{¢) agene (i) Repressor
d) vgene (iv) Transaﬂetylase
Select the correet option.
(a) () @© (@
O W ® @
@ @ @ G @
@ @ @ © @
@ O @ @ G

Match the following organisms with the products
they produce :

(@)  Lactobacillus (i) Cheese
(b)  Saccharomyces @ Curd
cerevisiae . .\
©  Aspergillus niger (i)  Citric Acid
d)  Acetobacter aceti (iv) . Bread

&)  Acstic Acid
Select the correct option.
@ b)) @ @
L G v @ ®
@) [ @ @ 9
@ @ @O G
@ @ G W )

Following statements describe the characteristics

of the enzyme Restriction Endonuclease Identlfy
the incorrect statement.

(1) The enzyme binds DNA at specific sites and
cuts only one of the two strands.

2) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.

B3y The enzyme re;ngn_ize's a specific
pa]indrmnic nucleotide seq'uéme inthe DNA.

4) The enzyme cuts DNA molecule at 1cient1fted
position within the DNA

Which of these following methods is the most
suitable for disposal of nuclear waste ?

@

Bury the waste under Antarétié ice-cover

(02)) Dump the waste within rocks under deep
ocean %

(3> Bury the waste within rocks deep below the
Earth’s surface

(4)  Shoot the waste into space

19

86.

| 87

38,

Qs
28N t‘mﬁ‘ mﬁm‘@ WoZww&ny iR ©IYNY
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@) Iasosmao @ - p- meﬁﬁ%ﬂéﬁw
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© amosmok @) RS

) yaswm&, vy __3355%2:&3&3
rooing 92§ 0300, 08, WP\

(a) (b) (c) (d)
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2 W @ G @
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G G @ @ W
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| W) ST e
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89.

91.

92.

93.

94.

95.

20 fEngli;h+Kannada |
Expressed Sequence Tags (ESTs) refers to 89, @) W8 AT & a’_a_’i,as’a o] _é- = %H@’a - (ESTs)
(1) Pﬂ]ypepmdﬁ expression SVGLDITOMVRT
2 DNApolymorphism 6] m@aﬁﬁ Bons oRE3; LA
(3)  Novel DNA sequences @) a5 e:) Jﬁbdﬁ:wéﬁ . |
(@)  Genesexpressed as RNA (B) STATF ... SDIIIRER
. <
What triggers activation of protoxin to active Bt I @%Jajﬁﬁma OBl
toxin of Bacillus thuringiensis in boll worm ? 20, POTIIFIY, BJE? AOZT B00B0II AN
()  Moist surface of midgut fgfgiwgﬁ;ﬁ% %gﬂz‘f;; ft Mﬁ%‘bﬁm R
: - COeES ¢
@ A]Jfa-hne pH of gut )] &'ﬁqj NP @emoﬁ HHer st
(8)  Acidic pH of stomach 2 ﬁ&@ﬁ@sﬁ e
Body te ature o y
@ A | 3 wBOBOS sHyecd pH
A hollow metal sphere of radius R is uniformly @ DeIT soTmws
charged. The electricfield due to the sphere at a oL o R SO 208 SO SReET R OB,
.dlstame ' &G_m,the LERtre:; e::uﬁti.ra @oN SeBRRYAT. Ao @eozﬁaod
(1)  zeroasrincreases forr<R, decreasesasr ¥ BRSEY GU0LRn wma'“ ﬁe_&,@
intreasea Rrak n 1) r H080IRE0E ms s 9Q r <R,
2) zerqas_rmcreasesforr*:R,mcreasesasr R fa@ﬁod:ﬁ)rbétﬁ “a@r?R
incropsoe of > @ ro03cREed BeSFHIT @Y r <R,
(8) decreases as r increases for r <R and for r 5080302 é:)@éodaarbgcs “a@r}R
N >R . : @ rR0TIRTOS fa@%mm:%ﬁs faﬁfj r<R
(4  increases as r increases for r < R and for o g} SR
=5 @ r DOERRTOZ D0BOIMZE A r <R
Which of the following acts as a circuit protection R r>R
device? 92, B FUNIYNIQ CIRFD HOBO T3 VBTSN
@ induptor ﬁ@F#ﬁgﬁ 9 : o
@  switch ) Heos
3  fuse @ A5
4) conductor (3) TR 5#;
4) =OBT
A solid cylinder of mass 2 kg and radius 4 cm 18 : x: : ¢ 0T
rotating about its axis at the rate of 3 rpm. The 9. 4 c;:n j;}%@dﬁ: ai mj; ;}:g a.?i?; = » U’fg
torque required to stop after 2u revolutions is: SROVERY e
—4N QYTen aSmmw @ﬁaé@
@ 12x107"Nm @ 2x10-3Nm
@ 2x10°Nm @ 12x10~4Nm
4 2x10"Nm (3 2X108Nm
a-particle consists of : i 44)%?@ Q? ;\i;:;ﬁf%ldb
(1) 2electrons, 2 protons and 2 neutrons . P .
(2) 2electrons and 4 protons only @ j :Jf;;;;rga‘ 2 TDROWIZNG &) 39;
(3) 2protonsonly
. : 2 2 ‘aeﬁfa N0 T3 4 BRCLIDTINTR, B0
(4 2 protons and 2 neutrons only ( &5 By ey Sy mha)
@ 2 f@emmﬁ@@a 0T,
In which of the following processes, heat is neither @ 2 “@Emmﬁﬁ' = 2 mﬁé@ﬁ’nﬁ@ﬁb{ =g,
absorbed nor released by a system ? 95. S8 FINT TR WFODONY YUY & eTORBBTBR
(1) adiabatic BY, WERBOR SODOY ?
i ' (D BReR (adiabatic)
g ;:221?:; @ =03 (isobaric)
: sothermal @) ADBeedI (isochoric)
@) otherm @) ReHE2eod (isothermal)
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96.

97.

a8.

The displacement of a particle executing simple
harmonic motion is given by

y=Ay+Asinet+ B coswt,
Then the amplitude of its oscillation is given by :

®  JaZ4+B?

JAZ + (A + BY?
A+B

Ag + VA2 4 B?

In the circuits shown below; the readings of the
voltmeters and the ammeters will be -

)
@

@

10 ﬂ _ 51 10 ) ig
— @ “m -' 3y
| - |
10V 10V
Circuit 1 Circuit 2

(D
@)
@)
@

A parallel plate capacitor of capacitance 20 pF is
being charged by a voltage source whose potential
is changing at the rate of 3 V/s. The conduction
current through the connecting wires, and the
displacement current through the plates of the
capacitor, would be, respectively :

(1) 60uA, 60 pA
@ 60 A, zero
(3  =zero, zero

(4  zero, 60 pA

Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The
collision is head on and elastic in nature., After
the collision the fraction of energy lost by the
colliding body A is :

V1=V, and i; >4,
V;=V, and i1 =1y
V,>V, and 1>y
V>V, and i =1y

@

@)

S|lor Ok o)

)

@

Wl

21
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Q5

ATY Tong BotonY FRONFNBTOANE 20D
BEOTI r-%éoad@ imﬁtbasoé’
y=Ay+A sinet+B msmt

_ - 800 €oBReORT
T0RY) BESTHROP

M a1 p?
JAZ + A+ By
@ A+B

@ Ay +VAZ + B2

891 RRLTOR AMFoBOTY a@eecﬂbmuﬁ V)
@memc@ BROMNT [TIND :

_JS%% i 100 i
® @D ‘ _.1_0:_ ﬂ E;’ @
| |
, '1E0V I1!'211 v
SoBL-1 WOBL-2

®
@)

V, =V, &8y i, >,
@ Vo>V, @i, >i,
@ V>V, @i =i,

3 Vis 300 35:5 JONVINDI VA RRATA AR Vo Jpewd
&SFOO0T 20 uF mdﬁé BROODH wowH m:::s:j
POV PRTTBI, PeBRROZTONTS, | ﬁmﬁ
ez 208 a’mams IOTY acﬁo@F ai)a: ADla i
FPOBNY ROF OIS B %oéd ac*b LT
(1) 60pA, 60pA

2 60 RA, araai

@ 3ws, EiJBE‘S

4 MSS 60 |.LA

‘w E‘dﬁrﬁ@ BODITLT, 4m’ G‘:}éod}:}@ T ‘A’
2m ca&odmi aéﬂé’oﬁb@d}w mé@om FOOR

B Bg RedcInED.  BEoI Hoan-c0d

W A3 RTE B ﬁd@wmﬁtﬁ g B0nE 03T
R®3 mcﬁcﬁ ﬁOSJ ‘A TQ mmmw “‘6030

mﬁ@

8
(1) 9
4
(2) 9
b
&) 9
1
) 9
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100.

101.

102.

103.

104.

105.

22

A force F =20+ 10y acts on a particle in y-direction
where F is in newton and v in meter, Work done
by this force to move the particle from
y=0toy=1mis:

M 54J

@2 25d
@ 20d
4 30d

Pwo particles A and B are moving in uniform
circular motion in concentric circles of radii
r, and rg with speed v, and vg respectively. Their
time period of rotation is the same.. The ratio of
angular speed of A to that of B will be :

1 vpivp
@) rg:ry
@ 1:1

@ ryirg

A body weighs 200 N on the surface of the earth.
How much will it weigh half way down to the centre
of the earth ?

() 200N
2) 250N
3 100N
4 150N

A small hole of area of cross-section 2 mm? is
present near the bottom of a fully filled open tank
of height 2 m. Taking g =10 m/s?, the rate of flow
of water through the open hole would be nearly :

(U 89x10-%m3s
@ 2.23x10~%md/s
@) 6.4x10"8m?s
4 126X 10 6 m3f$

An electron 1s accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
is, (nearly) : (m,=9x10"31 kg)

QO 12.2x10"1Zm
@ 122%x10~4m
3 12.2 nm

@ 122x10"18m

In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. \What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

(Pewater = 4/3)

QO 015
2  0.05°
@ 0r°
4 0.266°

100.

102.

103.

104.

105.

101.

|English+Kannada|

y-DETYTT WO 3000 see F=20+10y J3D,
zuozjza 2o BEFAS, B9 FIRuTEYD 35333
y Q0eTRAB. y=0 c0T y=1 m IO 69@@
FOHOD B3 ODOW YVOLRT FOXEY :

A 57
@ 257
@ 20J
@ 30J

RN vy BB vg WRTROOR A TE B 20w

DO Fansd DFFeolod FINYY ry WA ry
az:sﬁeéeﬂ DTCHJ aﬁé.racd: aSe::a?ods@ﬁ EoTats
es:ﬁaﬁoﬁa eﬁm’rﬁ@ "e0T3e e:sﬁcﬁcﬁa'aﬁﬁe AT
Boedeod =W W B I 2RO RINAY

RTOBE)
VTS B
@ rp:r

3) 1: 1
(49 ry-rp

ATOTAV oW aSaeei 2006 OR TWOME 200 N
mma‘cﬁoﬁwﬁ R0 Be0TF LT Lol

EHTID q:a a@ﬁmmﬁ .
(D) 200 N
(2) 250 N
(3) 100 N
{4) 150 N

Komprmeh RORVHE 2 m FITIHT I3
2983 039 3YS ﬁ@o’a’e}: 9 2 Sl
é)nms‘adaaﬂ 2,06 ReY BogNW. g=10 m/s?
20T SRTOFHOT 453 JogE D[oRLT

20T BOOINE TT ST ¢
() 8.9x10-%mi/s

@ 2.23x10-%m3s

(3) 6.4x10~%m3/s

(@ 126x10-%ms

10,000 V £237500300 R00T 2010 fat?ﬁ)ﬁab
ﬁfo%ﬁFM@N%ﬁd QR (Haoewes) B z.::_a,g

300MmoeTsy ¢ (m,=9x 10~ 81kg)

(1) 122%x10-2m
@ 12.2%x10""¥m
(3) 122 nm

(4} 12.2%x 10" 3 m

%e%ﬁao% Fdeeng 400 nm 36@?@0@6@%
WIIR, WA RN, 1 m BROBOITHS TOHOR
AN, momhc‘baﬁ WRTL ﬁa:géodu éjae&od: NS
0:2° 0T BOWBRYTONT.  aUy TOIRENT
WOTBTEONYR, 2e08H Lomen LUCERIND RO
BRGFE ﬁrars&od:a RO am ? (bgyepm =4/3)

Q)  0.15°
@  0.05°
@ 0r
@  0.266°
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Q5

106. Increase in temperature of a gas filled in a container 106, TRZoDHY B0 @WAVIROTT ULFSCH Do

would lead to :  cImRsg SRTHBOTE -

(1) increase in its kinetic energy (1} WE0 BOR FIoHO D02

2) dﬁc'reasé'iﬁ its pressure @ o0 wIB3Y 908

(3  decrease in intermolecular distance @) ©o3T wenry BeoRd Kol
4)  increase inits mass @) ©ug DY HoE

107. The speed of a swimmer in still water is 20 m/s. | 167, 20 m/s BITY W) Hwomes J0g AROIQY
The speed of river water is 10 m/s and is flowing ggwgt—,%ag_ ROOD DO mge—é} 10 m/s 33 9t
due east. Ifhe is standing on the south bank and mw?-’-d‘ 3B BOEHEL @aﬁaﬁa G865 Jtdcﬁtﬁ
wishes to crogs the river along the shortest path, - wh .
the angle at which he should make his strokes wed QoS ﬁm% SATE THES w3 ﬁawm&
w.r.t. north is given by : T 28 ATHTVES. WPTZMEETON 0370

_ BRI sameﬂeéomdm% 2R3tLmo3 ¢+
O o " "
1 o
@ 60°west y o
' @  s0° TOHXOE
(3) 45°west |
@B 45°% mm%
(4) 30° west
4 30 ﬁ%&i}t;

108. Two point charges A and B, having charges | 108, A DB B 0@ 90m  efesnied FRoToh
+Q and —Q respectively, are placed at certain +Q DB —Q BFeBRTD. Brods. SRSy
distance apart and force acting between them is 20y &Db@gﬁ@ﬁﬁﬁa A m&%@@ﬂéﬁ DI éFmg
E. If 25% charge of A is transferred to B, then : T i " =S R = 3
force between the charges becomes : WO F AT 2 5 ’4’_@ 655553% B A @nerowand,

UBBNY SHH 00T e :
ey e 9F
16 ieal)
O 1a
16F
i 16F
(2) 9 @ 5
4F 4F
3) 3 (3 =
4 F 4 F

109. Inwhichofthe following devices, the eddy current | 109. i@@é{i}’;ﬁ Cd:m&“) :Wﬁﬁdﬁﬁ@@ DG 553536 TTOET3
effectisnotused? : TOTFTNRM, WHLHRYOL 9
(1) magnetic braking in train (1) -'CZ;@ES (pletct ﬁf%@ﬁﬁ@

@)  electromagnet 2) &%@%ﬂé
(3)  electricheater &) DTNT® THTITY
@  induction furnace @ Feowmo Bevd
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110. The radius of circle, the period of revolution, initial - 110, 3RO JRDATVTOE, asﬂgcj &%, WOLTRBCD

111, In total internal reflection when the angle of
incidence is equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ?

112. A 800 turn coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5 X 1075 T,
When the plane of the coil is rotated by 90° around
any of its coplanar axis in 0.1 s, the emf induced

position and sense of revolution are indicated in

the fig.

HEE=0

T'=4s

y - projection of the radius vector of rotating particle

Pis:

an yo=4 sin[

2) y(t)=3 mé[

o

)

o
2

o]

G2

@ Yb=3 cos(%)

, where yin m

],whereyinm

, where yinm

(4) -¥(t)= ~3cos2wt, where yinm

Q

(2)  equal to angle of incidence

@ o
4y  180°

in the coil will be :

1 02V

@ 2x1073V

3 002V

@ 2V

$RIFPY, TWOOYT BRI R08) * BOGREOD

ndnoonds.
¥t
| Pit= 0)
\\Ts 48
: 3 X
3 m

TOBREBOD B0 PH AOB SXE y- TFTWAR

: t
a =4 Sm.(%-), 99 y m BY
3t L .
o v0=30s(’1) a9 ymags

1t
PRGN . JU—

@  y@t)=—3cos2wt, 9 y m 8YT

111, Romemns ©030% JITOTTY By S0
508300 RO BOTOR  WRGINY AADICIEWY)
TPSERTE ARDTNBARRTS, BHEDS &eeS
DT, ?

n o

Q) ST ﬂmeﬁ% REHTINT
@ 9

4  180°

112, oW 800 ﬁaé&ﬁ@a% TWOFTOWOTOD WALEDF
0.05 m?2a%0% WTPOIT, 5X 105 T 500383,
SOWTRNORERNG.. FTIVCD. AIVR), BT3
03T REROT: DBBOCH SIX XY 0.1s39
90° O3, STMATTS, BOCHY BT

emf :

1 02V

2 2x1073V
3y 002V

4, 2V

T
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113. A cylindrica] conductor of radius R is carrying a
constant current. The plot of the magnitude of”
the magnetic field, B with the distance, d, from
the centre of the conductor, is correctly

represented by the figure :
B

@

)

114, The unitof thermal conductivity ig -

L Jm-1K-1
2 WmEg-1?
® Wm-1g-1
4 JmK-1
115. Which colour of the light has the longest
wavelength ?
(1)  blue
2) - green
3)  violet
@ red

116. The work done to fa_ise'a mass m from the surface.
of the earth to g height h, which 1s equal to the

radius of the earth, is:

@ 2mgR
4 % mgR
(3) g mgR
4 mgR

25

113.

114,

116,

Q5
R RO 2.0z Row WOTT) A 0wz avkcy
-_gmaaﬁsdo% LSS, B ﬁeogﬁﬁlocﬁ_'_&wsﬁé‘g
B DD 308 @ @3 QT ﬁﬁoﬁ;m‘i BN
XD 2335 HooswA TIGIIT 9
B

(1)

@

&)

@

magmaﬁf%;d DBSTeY) :
@ Im-1g-1-

@ WmEK-1 -
(3) Wm‘_IK‘l
4 JmK-1

BEET oo 2233 V0T WG s ITomoes
(wavelength) pons .

D D

2 T
3 Jegy
4  domh

20T b mmnt,mmwa THE 11000 Z3Rdnod
T ADTADR DT h A" 2Zozen emrvm
BORD ¢

D 2mgR
@ % mgR
3) 53‘ mgR
4 mgR

T
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Qb 26 {English+Kannada|
117. Pick the wrong answer in the context with | 117. T=XIIQN X oDAT0S Koohen BT, Siovi}
Tﬂinbﬁw. ool ’ )
(1)  The order of colours ig reversed in the 1) 5&eod SHRRORS wEnd IRWOIR)
secondary rainbow. e’fdacﬂqmﬁﬁasd. mU e
(2)  Anobservercansee arainbow when his front @ RS so0Lmn Mdﬁas‘a’: %ﬁoﬁhcﬁg‘i Sye8dD
is towards the sun. Ea@wrﬁfﬂ@m e&mecﬁwﬁ:d& "'**
@  Rainbow is a combined effect of dispersior - |
ainbow is a combined effect of ASPETSION, - - o
cofraction and reflection of sunlight. @ woREDY ARORET 398 TOF R,
| D W WY, T3 OBINT WA,
(49 Whenthe light rays undergo two internal = BFosTON.
reflections in a water drop, a secondary
rainbow is formed. @) DO BACDY B 33gariEd T 8030
TIFPOT OOLDTIRTIN, WO {BEOH
STs ¥, @ i
118. A soap bubble, having radius of 1 mm, is blown TRBVL m%ﬁ' r*o@_f;ﬁ
from a detergent solution having a surface tension | : _ o
of 2.5 % 10~ 2 N/m. The pressure inside the bubble 118. 1 mm %mﬁadaﬁ 20T BREEd MY 00
equals at a point Zg below the free surface of water 2.5%x10~2 N/m &3¢, BYBITIN  BIRFT
in a contalner. Taking g=10 m/s2, m@,ﬁf@&@d RTIERNTS. Tb%oih 2,80 g,o%ﬁgjj
deiisity of water =103 kg/m3, the value of Zyis: PICHE DOF TOY, e § 89S DOz
(Hh 10cm %o R &OWBNTI g, g=10 m/s2; O
~ond =103 kg/m3 2080 IRTHER0TT Zy 3
@ lem s
VRO
(4 100cm 2y 1lcem
3 05cm
119, Tonized hydrogen atoms and o-particles with same 4 100cm
momenta enters perpendicular to a constant
magnetic field, B. The ratio of their radii oftheir | 119, wozde RoOFJen =2 5 OOTIR 503R30ENRBOR
paths 1y : o Will be B o BoSwNY THE) odErit 42
1O 1:2 FOTEE, BR ©owmon JESedass BPYNE VP
@ 4:1 SpNne DRI TR LD ¢
@ 1:4 s 2
2 4:1
(4 2:1 ®) 1:4
4 21
120. At a point A on the earth’s surface the angle of
dip, 3= +25°, AtapointBon the earth’s surface | 120, BN %5003 ﬁﬁg 0,00 20T ARS OBSS
: _ L5 : * i Ef'&]j‘ = a
the angle of dip, 6= —25°, We can interpret 20eR 5= +25° BONOOD 5’35@3&35’33 00T DO
Wbt _ BS 0838 dees 8= ~25°, o5y QTR bert
(1) A is located in the southern hemisphere and @C’%ﬁ“ =3y0onT
Bis located in th rthern hemisphere. :
| is located in the northern hemisp ere ® A . CﬂgmtﬁanE@ﬁ@ﬂtﬂ ﬁ% B o3
@  Aislocatedinthe northern hemisphere and OBTIEFRRSTEOT.
B is located in the southern hemisphere. =
, _ 2) Ao wgﬁamrﬁﬁe@dgﬁ 8 B o3N
(3) AandB are both located in the southern waﬁwvmwm@zﬁ.
hemisphere. - "
@) AXDBB RETHRL w%mtﬁ?ﬁ@e@dgd.
4) AandB are both located in the northern = " ' ;
hemisphere. 4 AT BCER OBTORF ARSI,

sh
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[English+Kannada | 27 Q5
121. A particle moving with velocity v is acted by three | 121 ¥V $enBQ @BOIT 2,000 3w BIFY
forces shown by the vector triangle PQR. The Apedatha 1oz %ﬁ@es PQR sj@qoba oD
velocity of the particle will WONPOT VEFRAVUB. T B :
P A
¥ a & a
(1)  decrease . (1) |a9soIPNIBH
(2) remainconstant 2 menode ﬁgpdmﬁdbicﬂ
: _ —
(8Y change according to the smallest force @} 3 595% WO QR ®O3 mdmméﬁ
@ increase @)  DOFCIRHIT
15 122, p-BP0O ANFBITRY, Bt ods sSersosn

For a p-type semiconductor, which of the following
statements istrue ?

{1y  Holes are the majority carriers and trivalent
atoms are the dopants.

2 Holes are the majority carriers and
pentavalent atoms are the dopants.

(3 Electrons are the majority carriers and
pentavalent atoms are the dopants.

4) Electrons are the majority carriers and
trivalent atoms are the dopants.

noolwnd 7

(1) Bognwh ROFTeBIND &) SRdd Bed
QTR TOTIVERNEL BRTOFNRTONS,

(2) Cogrish NOTHOTINEL BBy WO eS8
QDB HsecRTd BRVBOFRERNS.

@  2ERRith ROTERRIIR I oz Bk
QT TURFON BRFowrnvonss.

@ a@%ﬁmw RoZTo@INth B e
e QLT TOTToLeNEHd TWRTHOLFNFONGI.

123. A copper rod of 88 cm and an aluminium rod of | 123. 88cm 3 20T TRT IRF WP W07 SLODHTT
!.mknc:-Wn length have their increase in length SORABIN0 RBIRYY WYRY OTIT DOBAIN
mdepenfiept of increase mtemperature; The_length o %3 0P DOIOHT, GTOODAHYOLTTE
of aluminium rod is : e, =1.7x 103K~ 1 and e 2 | L
ap=2.2x 10" 5K-1) @%@D?@O&)D Al Jove! WBFH). -

(1) 113.9 cm (Q{}u=1.7)< 10_51{_153395&4%1:2'2}(10_51{_1)
() 1189c¢m
@ 88cm 2 S
@ 68cm @ 68cm
124. ‘Two similar thin equi-convex lenses, of focal length | 124,/ "XON&D TRTUQTHE HTE 2.00¢ 0e30d 3¢

feach, are kept coaxially in contact with each other
guch that the focal length of the combination is
F,. When the space between the two lenses is
filled with glycerin (which has the same refractive
index (& = 1.5) as that of glass) then the equivalent
focal length is Fy. The ratio F; : F, will be :

n 1:2

ReD2eT TBRTNTRY, 2,083 WA 2OTEROW
ROPPFTPRBOONT.  STTWOOT B3 WReBROD
Koreh Bedy) Fehd. QUe Reone Smad
ZRNT, NROFTVOT PIF THRWS, BT F=PY
xonae wWwed F, 03, F; : F, o0y :
BRBVNG : p=1.5 RO &I PR QTRER)
D 1:2

@ 2:3 &
3 3:4 @ 3:4
@ 2:1 @ 2:1
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Qs.
125,

A disc of radius 2 m and mass 100 kg rollson a | 125. 100 kg D08 D 2m .%255&}&5 5,0 238 &332
5 . 0 panty ' el :
ggnm}mal{lfﬂlm; 'if :’“E? of mgsz ];as tipeiﬁ?ﬂf S0 He8 hWHIB. BB T T &I
e 20 em/s 833, BEW, YR BewdT IO
1 380kJ TR, 7
@ 1d @ 2
® 14J
4 3d
4 34J
126. Six similar bulbs are connected as shown in the | |
figure with a DC source of emf E, and zerointernal | 126. #8230 B0e0athzmod &b HFOed W] ri%ﬂﬁ_o&,
resistance. emf B3 3eF, ©0308 deeg /s DC S30E
| JedRooNT,
The ratio of power consumption by the bulbs when
() all are gloﬂfing and (ii} in the situat‘iun when ) @ ﬁgm@dg'@% mg_aﬁ (i) Qe ﬂgg oo
two l?rom s:ectam} A and one from section B are T3 Dent BES 2,00 Berbaiod 2oms 0o,
glowing, will be : = . e :
WONTY DWFTHH WRFFT OTIF) :
D —
A B - )
&1 'n] o “]
s 'mr] = m
|
E i =
(1) 9:4 (1) |
@ 1:2 2 1:2
B3 2:1 @ 2:1
@ 4:9 4 4:9
127. A mass m is attached to a thin wire and whirled 127, iwod 3oy, Bodnt Lord. g e
in a vertical circle. The wire is most likely to break WOWd ©Ow FITQ SPNRCRVH.  cdmaen
when : Bo80D DTN I W) 7
(1)  the wire is horizontal 1) SBodsodn i&aﬁd@ﬂa%ﬁ
(2)  the mass is at the lowest point, 2 Tedcdw ﬁ@@bﬁ@ﬁg%ﬁ
(8)  inclined at an angle of 60° from vertical 3 EJD&J%' 60° 80e3TY ﬁuﬁmﬁ&‘%ﬁ
(4)  the massis at the highest point @) Tod0N Feds ﬁod&&ﬁ@m%ﬁ'

28

English+l'{annad@l

collegedunia:s

India’s largest Student Review Platform

-




|English+Kannada |

128, °

129,

130.

+6V
0 %R
7
Al SLED (Y)
R
0 <R
S
B 1

The correct Boolean operation represented by the
circuit diggram drawnis :

1 ©OR

@ NAND
) NOR
4) AND

A block of mass 10 kg is in contact against the
inner wall of a hollow cylindrical drum of radius
1 m, The coefficient of friction between the block
and the inner wall of the cylinder is 0.1. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :
(g=10m/s?) .

10

(D o rad/s
@  10rad/s
3 10wradss
@ 10 rad/s

Average velocity of a particle executing SHM in

- one complete vibration is:

1 A
Aw?
4 5
(3)  zero
Aw
(4) 2

29

128,

129,

130.

Q5

46V
Al i:’siLED(Y)
7 i

B 1

nOCIRE wWRIONT ToodnriEin TIAHHLD
BBATHT DWFROBOT Seavoedes) -

(1) OR

@  NAND
3 NOR
@ AND

1 m EBABT 2O e FNT LeReedHs
adac;pmﬁ DCWEEMWOB o 10 kg Todod
ﬁmﬁotntﬁ. By, BEY Lutided esnieeod
NN TRFROD AT0% 0.1 K. BBl
@Q&Jmﬁd% Edaég BT 35% Eﬁgt:ﬁ RZ BTN
B0, E%dmﬁcsm BN edesorng 50
BReACDH Feney : (g=10 m/s?)

(1 % rad/s
2) 10rad/s
(3) 10 T rad/s
@  Jf1p rad/s

SHM 8¢ %ooRFNn3moNthas 00 B 2,000
FOTRLOF BOTIT ATORO wWeray)

1 A
Amz
@ 5
@ 3wy,
Aw
@ 5
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131. Two parallel infinite line charges with linear | 131. {wer3 R HTB FRPOST @0 Bedeod
charge densities +  C/m and — X C/m are placed es3eTnid Bedeody 5308 ToomIneos ) Cfm
at a distance of 2R in free space. What is the 2> —\ Clm R, 2R 3000 goadﬁéaﬁ@aﬁcﬁ
electric field mid-way between the two line o ] : By
charges ? DT> BesHeod e3:3e3Ne FRTCH BPTODYS
é’&ciuﬁaf i@%ﬁ@ ?
O o NIO 2\
e R N/C
’ @) meg R
@ A N/C A
weg R %) ‘rre,;;,R N/C
@) A N/C A
N/C
2meg R (3) 2megR
4 zero @ 30 3523
132. When an object is shot from the bottom of a long o 2
smooth inclined plane kept at an angle 60° with 132. 'ﬁéa‘;% 607 BReRTgS Emt%a')’o:b Nobaes "L

horizontal, it can travel a distance x; along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same

veloeity, it can travel x, distance. Then x; : xy
will be :

AIOT FPOOT 0T BAYWIY, DFODTNT.
I AIIOT TRT ¥ BRT BARVBD, BT3
800, 30° A 998 [WRR Y Ve BRP|IY,
T WMDY, RN x5 BRTIRD, FLORWTTTT
Xyl Xy W)

® 21 QO 21
@ 1:43 @ 1:43
@ 1:243 @ 1:243
@ 1:42 @ 1:42
133. When a block of mass M is suspended by along | 183 1, BT GBFOD 03000T M ToSCINY 2.0%
wire of length L, the length of the wire becomes B, Sed oswor, 3086H vd L+
(L+I).- The elastic potential energy stored in the ea _ h S %J :
PN cﬁa@&ib%ﬁojsazﬁﬁ, HRROB Bo3ohY BeDTrEIT
1) MeL %éh%wﬁ E_ﬁ}a’ud%ﬁ_%ﬁodw )
(1 Mgl
1
- — Mgl
@ 2 & @ % Mg!
3 1 MeL 1
® Ve @ 5 MeL
@ Mg @ Mgl
134. The total energy of an electron in an atom in an | 134,

orbitis — 3.4 eV. Its kinetic and potential energies
are, respectively -

207D TOHPEVDT FFEDYS ACTTT 2t S0
~3.4eV NG, 3RhEen wns Bos B3 w3

Tpd S, BN
1) —3.4eV, ~6.86eV ﬁ?‘* L -
2) 3.4eV, —6.8eV @ 3.4eV,—68eV
(3) 3.4eV,3.4eV @ 3.4eV,34eV
(4 —8.4eV,—34eV @ —34eV,-34eV
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135. Inanexperiment, the percentage of erroroccurred | 135, 2.0 Todeentd A, B, C B3 D yPeT0aRened,
mghe meagurement of physical quantities A, B,C SPIBRBTON ZhwON 1% 2%, 3% &3 4%
and D are 1%, 2%, 3% and 4% respectively. Then
the maximum percentage of error in the Jegm@aoth e WOLRIMEL.  ©0eT Egg

. A2 gH# | A2 Rk
measurement X, where X = o B , will be : Xa’@ ﬁaaé ISR TR, QQ X =- % 3
¢4 D8 %3
&N
@ 16% O 16%
@ -10% @ —10%
3 10% @)  10%
3
3, = %
— % 4) ( ) o
@ (13) 13
136. TIF BTN, BORRT SO
136. For an ideal solution, the correet option is: .
__ | | ) Amjx’i.?ﬂ A0 0w WP 4T wIBTY
(1_) A V#0 at constant T and P © - f}f-aD' s m& ,-%)CS &aa’dd@
2 A H=0at constant T and P @ Ay, G=0 %5 o %) 40 333
@ A, S=0atconstant T and P | o
137, Qynv oBBIROE waedne Ui :

137. The non-essential amino acid among the following ® R
s @ OO
(1) leucine (3) déﬁqas‘

(2)  alanine @ G
3 lysine _
‘ 188. 3PNT odoosycd TIDNECH T (F3Beers)
(4)  valine ADIAOIADIAVR IV, -
188. Which will make basic buffér ? o X &)J@Er ﬁm% 0.1 M CHaCOOH +
| o 100 &0.9¢. S, 0.1 M NaOH
1 106 mL of 0.1 M CH,COOH + 100 mL of .
@ 0.1 M NaOH 3 & @  100&0.Q¢ R 0.1 MHCI+200 &0.9e. DD,
0.1 M NH,OH
@ 100 mL of 0.1 M HCI+200 mL of - | |
0.1 M NH,OH (3) 100 &0.9e, 55551-;130.1 M HC1 + 100 &0.9e. &JE%
0.1 M NaOH :
(3) 100 mL of 0.1 M HCI1+ 100 mL of 0.1 M
NaOH @ 50 w.de. 3T, 0.1 M NaOH +25 Q0.9.
(4) 50 mL of 0.1 M NaOH+25 mL of 0.1 M ®%,0.1 M CH,COOH
CHLOOH 189, $913 CIPIYTOY SoHEraHALD LEcRR)
L , mw@’ﬁmﬁcﬁ s

139. In which case change in entropy is negative ?

: (D AT STTY WO O LFRBTORPTD
(1) Expa+nsiofmf a gag‘atﬂgnstanttemperature ® ; _ % 3 % SN SROBOOBT
(2)  Sublimation of solid to gas @  2H() - Hye)
© 2H( - Hye @ DeON PABBITNE ©Fm Dewd
(4)  Evaporation of water CIATeNvETgeIAS

Q5
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140.

141.

142.

143.

144,

32

For the second period elements the correct
increasing order of first ionisation enthalpy is :

(I) Li<B<Be<{C<O<N<F<«<Ne
@ Li<B<Be<C<N<QO<F<Ne
B3 Li<Be<B<(C<0O<N<F<Ne
49 Li<Be<B<(C<N<O<F<Ne

Match the following :

(@) Purenitrogen. (i) Chlorine

(b Haber process (i) Sulphuricacid

{©0 Contactprocess (i) Ammonia

(@ Deacon’sprocess (iv) Sodium azide or

Barium azide
Which of the following is the correect option ?

(@& (B @@ @
® O W O @
@ @ m @ @
@ v @ @ @
@ o o @) o

The correct order of the basic strength of methyl
substituied amines in aqueous solution is :

(1) (CHgN> CHSNHE >(CHg),NH
@  (CHysN > (CHy),NH > CHgNH,
(30 CH3NH, > (CHy)oNH > (CHy)sN
@  (CH4),NH > CH3NH, > (CHy)sN
The number of moles of hydrogen molecules

required to produce 20 moles of ammonia through
Haber's processis:

@ 20
2 30
@ 40
4 10

What is the correct electronic configuration of
the central atom in K [Fe(CN)¢] based on crystal
field theory ?

@ty ep
@ et
3 et tg
@ty o

140,

141,

142.

143.

144,

[English+Kannada |

QB0 (2TBIE) LEOHT'S FBOBRING T
@OITOLTTRT 0TI od TOWIRE DHOF
(R,Q03rR) 3R :

() Li<B<Be<(C<QO<N<F<Ne

2) Li<B<Be<C<N<0O<F<Ne

3 Li<Be<B<(C<O<N<F<Ne

4 Li<Be<B<C<N<0O<F<Ne

BRNTI, BROVID.

(@) Ebr;g) ﬁé&é‘s@ﬁaaa* ® Bpeow

b) Bewv® 3o i Feow 0,07 353

(¢ BOT/F AT (i) Beeodso-

@ BT IS (v) ReeBodo
Ry O
WeOONC T

BRINTY VOCIIIDTY, SOA

(@ (M © @@

@ @ G ©O )

@2 @ m @ O

@ G @) @ {.ﬂ.

@ ©® W @ @)

oD TRRETYS WFT BIWMAI SFMT NG
HE0000P WL HOCRT FEOD

()  (CHa)sN>CH,NH, > (CH,),NH

@  (CH,),N>(CH,),NH > CH,NH,

@  CHNH, > (CHy),NH > (CHy)gN

@  (CHs),NH>CH,NH, > (CHy),N

TewT'® $0I000WYT 20 BTN,
SBLEVOIVT), So3PORLD BeTrivE BT
WEONT VR ROJOI

O 20
@ 30
G 40
@ 10

368 363 AR083 @D K, [Fe(CN)gl 8O3
FeoDE0oDH TURVEWRT BOOIRET mcﬂa:gésss' DDV
3R 9

Mt o
2) e3 tg
(3) E!4 tg
(4) tzé eg
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English+Kannada 33 Q5
145. The major product of the following reaction is: 145. -8 30000 wromrdE SR guddodd
— ; £ pt el :

COOH COOH i i
+ NH, strong heating , | + NH, TRO WD FHWATRA N
COOH COOH

s

NH
@ (1
_ COOH
COOH
2)
2 ‘NH
“NH, ?
NH,
NH, |
| 3)
© NH,
‘ NH,
| ,COOH
COOH
@ CONH,
CONH,

146. B000T ST ool Bmg ¢

146. Which of the following is an amphoteric N
e 1)  CaOH),
(1) Ca(ii.'JI-II)2 ®  MgOm,
@  MgOH), N
) B0, @  Sr(OH),

4  Sr(OH),
147, AReeEEy H0DY wom wIVIY 300 K 5¢

147. Under isothermal condition, a gas at 300 K S
1A 0.1 e, 20T 0. :
expands from 0.1 L to 0.25 L against a constant e ﬁjt’) e?emﬁ, 2 ¢300° mﬁi AT 08RT
external pressure of 2 bar. The work done by the % VERONAR.  TeMoTT BIVDOT &3
gasis : FOXEY :
[Given that 1 L bar = 100 J] [@3 : 196 ewo® =100J]
1 5k ® 5k
% 250 @ 25J
B 30d 3 304
& =Sl @ -30J

-
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148.

149.

160.

151.

152.

Forthe cell reaction
2Fed+ (ag) + 21 ~ (aq) = 2Fe?* (ag) + Ix(aq)

E2..=0.24Vat 298 K. The standard Gibbs

energy (ﬁrGe} of the cell reaction is :
[Given that Faraday constant F = 96500 Cmol ™~ 1]

cell ™

(1) —23.16kJ mol™?
2 46.32kJ mol™!
@  23.16 kd mol~!
@ —46.32kJmol™!

Which mixture of the solutions will lead to the
formation of negatively charged colloidal [AgI]I~
sol. ? .

50 mL of 1 M AgNOg+ 50 mL of 2 M K1

@)

@) 50mLof2M AgNOz+50mLof 1,5 MKI
3) 50mLof0.1MAgNO3+50mLof0.1 M KT
‘4’ 50 mL of 1 M AgNO;+50 mL of 1.5 M KT

Among the following, the one that is not a
green houge gasis: '

(1) methane

(2) ozone

3) suiphuf dioxide
(4)  nitrous oxide

Which of the following reactions are
disproportionation reaction ? -

@ 2Cut 5Cu?* +Cud

@) 3MnOj +4H' - 2MnO; +MnO, +2H,0
© 2KMnO; A, K;MnO, +MnO; + Oy
@  2MnO, +3Mn”" +2H,0 — 5MnO, + 4H®

Salect the correct option from the following :

®  (a),(b)and(c)
2 (@),{and{d)
(3) (a)and (d)only
@ (a) and (b) only

A compound is formed by cation C and anion A.
The anions form hexagonal close packed. (hep)

lattice and the cations occupy 75% of octahedral

voids. The formula of the compound is

M Cehy
@ Cghy
@ Cgg
@  Cofg

34

148,

149,

150.

151.

152.

|English+Kannada |

8 303 TomocHAT O30
9Fedt (mdeod) + 21~ (ndeo)->
2Fe?* (wdeob) + I, (wdeodd)

ES ;= 024V, 298 K3Q SPOsnes. @omesd
3es godod B (wmsﬁaj neyw, O30
(A,G%):

(33 : RIBD: 20Hz0085Ry) F=96500.C mol ~1]

a) = $3.16 kJ mol~ 1
@ 46.32kJmol ! .
3) 23.16kJmol ™!
@) —46.32kJmol™!

NS 030 TRRNY auFFewy Kmosleds BT
[Ag]I ™ R s, B030TH 9

(L) 50, e"Je R 1 M AgNO3+50:0.9¢. I
2 M KI

@  50&0.9¢ IT) 2M AgNO, +50 0.0¢. I,
1.5 M KI

(3 50 <n.De.. Edwp 0.1 M AgNO3 +50 &0.9¢.

oS, 0.1 MEKIL |

@ 5020.9¢. S, 1M AgNO3 + 50 0. d¢. S
1.5 MKI

B 398 BRUDBHNEY, womd BJAD W

BQOTNQRTTYT

(1)  oxeges® -

@ Leed

(3) Nuv -0

(4) ﬁé@ﬁ“ aﬁé &

AYNYE oﬁma&’ 3odnFr LATITOTET

sodnvons ?
(a) 2Cut - Cu+* +Cu°

¢  SMnOj + 4H" — 2MnOj +MnO, +2H;0
®) 2K_Mn04£} KgMﬂO,; _+ Mﬂ02 + 02
@  2MnOj +3Mn™" +2H,0 — 5Mn0; +4H®

TN ROSRIDTRY, SO¥D
O @, b= ()

@ (@), )RR (d)
@ FeRe (2)DB,(d)
@  #ee (a) 553:;30 (b)y

2,070 Bo03INBF) T’ DOW ﬁaﬁs@mm T A
@08 ﬁ:f@mmocs 5@3@?\:3 ﬁﬁ@mmd%
wtﬁoﬁﬁo& Sleta g@ems  (hep) ZOVEBR,0L,
::m%aizﬂ aa&sﬁ‘es}mmﬁ% Be. 750, @%@ﬁrﬁoﬁj
BRATNITY RRRT. mmdzﬁ HOOINET
(D) Cghy
@ CiA,
B C,Aq
@ Cohg
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153.

154.

155,

156.

157,

158,

If the rate constant for a first order reaction is k,
the time (t) required for the completion 6f99% of
the reaction 1s given by :

1)  t=6.909/k
@, t=4.606/k
B t=2.308/k
”-'(4) t=0.693/k

Among the following, the narrow spectrum
antibioticis '

(1)  ampicillin’

(2)  amoxycillin

(3  chloramphenicol

@ penicilin G

Which of the following species is not stable ?
(D [GeClg2-

2  [Sn(OH)g)2-

3  [SiCl)2-

(4  [SiFg)2-

Which of the following diatomic molecular species
has only 7 bonds according to Molecular Orbital
Theory ?

1) N
@ G

@ Bey
4 . O

Conjugate base for Bronsted acids Hy0 and HF
are :

(1) HaO*andF-, e spectively
(&) OH~ and F-, respectively :
(3) | H3zO" and HyF*, respectively
(4) | OH - and HEF +, regpectively

Thé method used to remove temporary hardness
of wateris:

(B Clark’s method

)  Ion-exchange method

(8)  Synthetic resins method
4  Calgon’s method

35

158.

154.

165,

1586.

187,

158,

Q5
TF S oo Sodod Fent AobzosR)
k 438, Be8@ 99 g, CompoRdT §00TN

_MF@FM%ED gleTorng We8 (o :

U t=6.909/k
@ t=4.606/k
@ t=2.303/k
@ t=0.693/k

ARNTY 30 BeekID), BRODT
BT ReFTTy ¢

(1 802307

@ '@mgﬁlw
@) BRDoPITS

@) SROT -G

NBHT JIeREY oD %53 BROOY ?
@O [GeClg)2-

@  [Sn(OH)2"

@  [SiClg2-

49 [SiFg)%~

FNOOR OTCRPRRT O3 AT IRTYT

T WOBRYEY BRYie wrds 3T ATWOTE ' BT
BRODT 2 |

O N,

@ G

3)  Be,

@ o,

H,050% BF mep3e oapne 95080 (cion)
TIMD :

1) ZHaoh HyO+ &3y F-
@ 3wen OH- 3 F-
3  Fwon HyO+ w3y HyF *
@ 3TN OH~ w3 HyF+

NeON . IOT NBROTTW, BRI
WTRRENDT TR :

1) W S

(2) OCERV-DITD I
® 338 ¥nY s

@ DO e
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159. A gas at 350 K and 15 bar has molar volume

160.

161.

162.

163.

20 percent smaller than that for an ideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z)is:

@)

7> 1 and repulsive forces are dominant

(2) Z<1and attractive forces are dominant
8) 7<1and repulsive forces are dominant
(4  Z>1and attractive forces are dominant

pH of a saturated solution of Ca(OH)g is 9. The

solubility product (K of Ca(OH)y 1s :

(1 025x10-10
) 0.125x10~15
(3 0.5x10-10
4 05x10716

Which of the following series of transitions in the
spectrum of hydrogen atom falls in visible
reglon ?

(1)  Balmer series
(2) Paschenseries
(3) Brackettseries
{4y Lymanseries

Which is the correct thermal stability order for

H.E (E=0, 8, Se, Te and Po) ?

(1)  H,0 < HyS <H,Se < HyTe < HyPo
@  HyPo<H,Te < HySe < HyS <H,y0
@ H,Se <H,Te < HyPo < HyO <H,S
4) H,S <Hy0 <HySe <HyTe < HyPo

Match the Xenon compounds in Column -1 with

its structure in Column - IT and assign the

correct code :
Column -1 Colummn -11
(@) XeFy i  pyramidal
by XeFg (i) square planar
{©) ~ XeOF, Gii)  distorted octahedral .
d XeOs (v) -square pyramidal
‘Code: |
@ ) © @@
@ G @) w0
@ @@ @ o G
@ G G O @
@ O @ @ G

36.
159.

160.

161.

162,

163.

English+Kan nadal

2,000 ©dOFPH 350 K R 15 PORY SuIE
AL Ier B¢, 20 TR, %@aﬁb ST n*:éa:‘n
eaTse %&ﬁv@ ﬂ@o&d TR0 BROT ﬁaa"aﬁ
HOXEBT 1B (Z) BOOSRT SOOI !

(1) Z}lméo DBRFT WON m@mﬁﬁm@
@ Z<1DB) STREE WONWD _,zommﬁcbﬁ@
B Z<13H IR [FE WO TWOFTNRID)
@ Z>138) SIRFT WONW TOWNTRTY
Ca(OH), & WO3FFT. wRHT pH 9 6WT,
Ca(OH), & TomBo Mooy, (K)o :

(1) 0.25x10~10

@ 0.125Xx10715

(3 0.5x10°10

(4 0.5%x10715

39S odm RogRored Jeednish BEeend
BOBRINT SReheST RReEs THeTTY

ATHZS 9

(1) DoetRdT’ Beednd
@ wortls Beedned
(B)  wostr Beedned

@ SFu Beednsd

HLE (E=0, S, Se, Te & Po) ob o0 40308
XOCRT e IR ?

L I—IEO < HyS < HySe < HyTe < HyPo
@  HyPo<HgyTe < HpSe < HyS < Hy0
(3) HZSE < HE_TE.‘ < HEPD < HEO < HES
4 H,S<H,O< HESe <H,Te <HyPo

o’ ROCIOFRTRY, Lo — I 8 Jeaw), BRIN
oo - 1 89 ehng SuHScdechn Beohi,
TOIRTDTRY, WOAD

500 - I ®wo = 11
@ XeF, @  TVXRBL
b  XeFy (i) z%z:fod RFBOe0D

nsecf ETO0)
© XeOF, (iit) aﬁé @%m:abeodo
(@@&%@_ BIE")
@ XeO, (v) BT LTS
e |
@ () (@ @

O @ @ @ O
@ @ G o
@ @) v O @
@ ®& @ @ )

T
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164. The structure of intermediat A in the following

reaction, is :
cu” OH
“\CH,
0y, o B iy
2.
—= s A
H,0 + HxC CH;
CHgq

(1)

2

3

@

165. Identify the incorrect statement related to PCl,

from the following :

(I)  Twoaxial P— Clbonds make an angle of 180°
with each other

Axial P — Cl bonds are longer than equatorial
P=Clbonds

PCl5 molecule is non-reactive

Three equatorial P~ Clbonds make an angle
of 120° with each other

2

&
@

37

Q5

164. B 39NT CoAOONT FoHOLYODH WGBS Ao
TeETRATH) ¢

~_CHy
\CH3
H +
+ H;3C )'I\CH3

3000011
3
OOCH

) @ =

CH,~-0-0-H

4

185, IPNIZNIY PCly o3IN BT TeYFOR),
FOTERAOND :

(1) Q0B eﬁﬁeoﬁo (23chHer) P--Clwognisd
FW, n’@* F®IW 180° TRTT DY,
mommmaﬁ

AN P Cl vomp'ney &b
(agEwedodver) P-Cl wognonos
STITIONGS.

PCl; @eaday) 3cdsodoesesonts.

DD IWT (JFERRD0HT) P-Cl
WO WD a‘ab"ae_@q 120° ﬁuafab‘-a’a‘an,L

mowmmgﬁ.

T

@

®
4)
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166. For a cell involving one electron Egy= 0.59V at

167.

168.

298 K, the equilibrium constant for the cell reaction
18 :

[Given that _2'30—3m = 0.059 Vat T = 298 K]
(D  1.0x10°
2 1.0x1010
@  1.0x%10%0
@  1.0x102

For the chemical reaction
Ny(g) +3Hq(g) = 2NH3(§)

the correct optionis: .

_ dNg) _ , diNHg]

& dt dt
® 3.‘1[::2] ~ 9 ﬁﬂjfgl

An alkene “A” on reaction with O3 and Zn—H,0
gives propanone and ethanal in equimolar ratio.
Addition of HCl to alkene “A” gives “B” as the major
product. The structure of product “B” is :

CH,Cl

: 1
(1 HyC-CH,-CH-CH,
ot
é
Cl
o8
. H.,C-CH-CH
3) ¢ R R
; Cl CH,
s
@ Cl-CH,—CHy- ?H
CH,

38

166.

D

167.

168.

|English+Kannadal

WO RSWT WY, dwedd ES; =059V,
298 K shed. morwiss 30030 Tomoohag 30H0H
ROBOFT JONTVOTW) :

13 : 238 8L _ 0059 v; T= 208K 5¢)
1.0x 109

@ 1.0x100

3 1.0x10%

@ 1.0x10?

DeRHT Tomochng 3odMeN

N, (£20) + 3H, (8930) = ZNH, (209)

Bociwn oo :
JIN A[NH,]
@ - {dtg] =25
ANl _ 1 dINH]
@ it 2 at
d[H d{NH,]
@ 3 [:;2] dos
1AM, 1 diNH)
@ 3 a2 a

“A” 0w WOeS’ 0, Zn~H,0 Bed S84
EDBRTOT WHTIRY BRETJLT MR
GTo0C® (ethanal) BRETHW. @@&Eﬁ" “A” i
HCl &, Redawon T@nd wzpuscimh “B
WOERT.  HoMeBT wgdoinn “B” o
CHETORRBR) ¢ :
() HyC—CH,~CH-CH,_

cn
@ HyC-CHy;—-C-CH,
4]
Cl
oo
H.C-CH-CH
®) AT
Cl CHg
CH,
]
4) Cl-CH,—CH,- cltH
CH,
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169. Among the following, the reaction that proceeds
through an electrophilic substitution, is :

0 Qe
C
@ +CIZUV =hd

Cl Cl

- :
4) QNECI_ 210, ©—01+ N,

170. The most suitable rea
conversion, is :

39
Cl+HCI
] Cl

CI

gent for the following

H;C CH,
HEC—CEC—~CH3 ' ><
H H
cis-2-hutene
() H,, Pd/C, quinoline
@ Zn/HC
() Hg?*/H* H,0
(4" Na f]_,iqu_id NH,
171. 44, 5p, 5f and 6p orbitals are arranged in the order
of decreasing_energy. The eorrect option is -
(L)  6p>5f>5p>4d
2)  6p>5f>4d>5p
@ 5f>6p>4d>s5p
@ 5f>6p>5p>44
172. Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Mis:
@» Mg
@) Ca
(3 Sr
@ Be

Q5
169, BUNIBrYoDd S0BAYY, 2ot IO,
TSRTT BIFOHOIRA :

o (a2 ™y g
Cl

AlCl,
SRR

@ ©+012U——V—h£h-*+ci a
a a
&) @-CHEOH+H01M -CH,Cl+H,0

+ 3
(4) Nﬂa-g—“ie__]?.,.@—cnmg

170 51 oARADIB godode) SRR Beg OPBcty

Mmﬁsm% Llotial
H,C CH,
HSC—C:C-CH3————+ |
H H
,-w‘_z—a%ésw
M Hy Pd/C, §Rreds
(@) Zn/HCl
@ He?*/H* H,0

@ Na/ZT0d odeedoin

171 4d, 5p, £33 6p sEINT, 33 (Do) o g
2 e %

TITY DBRAE.  momomd XOoITeTs
ﬁ:?O@%Od}.}:

(@)  6p>5f>5p>44

2)  6p>5f>4d>5p

®  b5f>6p>d4d>5p

@ 5f>6p>5p>4d

172, Saonieb modetrnivdon ATP oba, SmFcnsios

ONTIOA e TY0C0W PROeR
M3 :

1) Mg

@ Ca

8 Sr

4 Be
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173. Which of the following is incorrect statement ?
1)  SiCl,iseasily hydrolysed
2  GeXy X=F, Cl, Br, I) is movre stable than
GeXy
(3) SnF,isionicinnature
4  PbF,is covalent in nature

174. The manganate and permanganate lons are

tetrahedral, due to:
(1) Thereismow-

(2 Them- bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

bonding

3) Them-bondinginvolves overlap of d-orbitals
of oxygen with d-orbitals of manganese

(4)  Themn- bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

175. Which one is malachite from the following ?
(1) Cu(OH),
(2} F3304
4  CuFeS,
176. The mixture that forms maximum boiling
azeotrope 1s:
(1) Ethanol+Water
(2)  Acetone+ Carbon disulphide
3) Heptane +Octane
(4) Water + Nitric acid
177. The correct structure of tribromooctaoxide is :
0
0&\ I -
O=Br-Br—-Br—-0O
(1) 04? |i ™ O_
O
0 —_—
0% ! /0
O-Br—-Br-Br=0
@ P 30_
O
O".‘—‘
O o | &
Br—-Br-0
@ 7R
3
O
0\1‘\ {l &
O=Br—Br—Br=0
CY 72 A
0 O

; 1Eng1_ish+!{ﬂhhaﬂ£|

173. awcd 3T BePFOIW sm“ﬂcs e

M
@

8iCl, Rowziesen BORFHBRRNFIT.
GeX, (X=F, CL Br, D& GeX; "hos B
XT3 ACeIAA)

(3) SnF, 03008 TSR, BRODT.

(4) PbF, Rmededom rbsa BHODT.

174. abaoﬁére@:‘ AT wﬁmoﬁﬁew 903TOTNG

%éomweodbmhdm aﬁ:tisaa_i)

(1)  w-RIOBNW A LTTTD

@) Eﬁm‘eﬂ p-3FEN0, momm
p-ﬁﬁﬁﬂ@@ﬂ@ﬁ r-moz;ia’s@oaﬁ
@émﬁwnaa,cﬁa _

(3) ﬁ%ua‘ﬁ d%ﬁm‘b mmaaxfﬁ
d- %éﬁ@i@oﬁaﬁ - moc;t:iraoﬁﬁ
wém&m@m

4 aﬁﬁa’:a‘s‘*zﬁ p%ﬁﬁr{%‘b ﬁ:‘aoﬁm;‘faﬁ

| dﬁﬁ%ﬁ@mofﬁﬁ -moc;draoﬁjﬁ
@3@%@?&35@&3
175. QBT OFPRT  BROUW (F50,08,85°)
ehTs 7 |

@  Cu(OH),

(2) F€304

@) CuCO,.Cu(OH),

(4) CuFeS,

176, $9RE Dogimy MOF DO RBRPEIRNS :

1) BT +0ed |

2 et +TRWES dﬁ%@‘

3 &3 ess“-t-e&%m‘

@ e 4—_5"’3@5&3# S

177. B gpsne 058 @S KOIRR CRIORNTF :
O% I 4
~Br—Br—Br-
o ° Of” R
o
5% O —
_ O\X Il /O.
0-Br—Br—-Br=0

@ _Ofr - {T

O

5
o, 7 L _
= Br—Br—Br-

" i

; o

O
0\ Il &
O=Br—Br—Br=0
(4) " ur \r
0 o O

collegedunia:s

India’s largest Student Review Platform



|[English+Kannada
41 Q5

178. The biodegradable polymeris: - 178. #03 OTBI BRODN ToOTT* VRNYY
SOA : o )

(1) nylon2-nylon 6

2  nylon-6 ) ﬁéﬁﬁﬁf 2-55@353*‘ 6

@ Buna-S @ Jeoer-6

@ -8

@ nylon-6,6
@  Jo0e-6,6

179, tl‘he compound that is most difficult to protonate
is 179. 8 BoosIWD, Bactdneers SR 8303

=

:ifégﬁtfmﬁtﬁ :

@ HSC/O\H 0
®  He NH

0
’ @  Ho \\CHg

0
©) w k. W
Ph H 5 Ph/o\H

O~
® BTNy @ e S

180. The number of sigma (o) and pi () bonds in | 180, Bow—2-BiF—inior? (pent-2-en-4-yne) IOCH
: —8i— -2-en-4-yne) SO

pent-2-en-4-yne is:
AR, (o) 3B ﬁé (w) Logng AO85030

(1) S8ohondsand 5 bonds (1) 8 &J‘Dﬁjﬁ% B 5 ?;fﬁ%

o ) 0T WO :
@ 1lobondsand 2 wbonds @ 1llo 2o5Red ) 2 203N

i ), T 4
(3) 13 obonds and no wbond 3) 13¢ wognsd BV T WOPRPRFOL
(4  10obondsand 3 7whonds @ 1006 2oTND DD 37 w0TRD

-o00o0- -000-
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‘:Read carefully the following instructions:

o spedsiey emncesdenon b0 :

1.. Each candidate must show on demand his/
‘her Admit Card to the Invigiiator.

9. No candidate, without special permission
of the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the

their Answer Sheet to the Invigilator on
duty and sign the Attendance Sheet twice.

the Attendance Sheet second time will
bhe deemed not to have handed over the
Answer Sheei and dealt with as an
unfair means case.

4 Use of Electronic/Manual Calculator is
prohibited.

5 The candidates are governed by all Rules
and Regu]atmns of the examination with

with as per Rules and Regulations of this
examination.

6. No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

7. The Iclandidates will write the C_crrect Test
Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.

Examination Hall without handing over

Cases where a candidate has not signed

regard to their conduet in the Exammatmn_
Hall. All ¢ases of unfair means will be dealt

1. Soepsossy Tpked TYRD BewTmon F30302)
DPHFOIN. LTI, z&owﬁ:aﬁfﬁo

2. :'bf@zsadﬁd OPT  NCTORTONG - IBeA
@maﬁaaeﬁwd @aﬁﬁarm 3 %@am z&m
Beewm Ty,

3. TOOHFACS @e@dzswﬁaﬁ 3, 3D TTODI,
BRBT THT) TOWRD HoBodh hedd T 50
Do WIRBHE m’c'é)df SiMatgleviy o
REOONEDRI, WD, FPTHT TN, WO
e w%@roﬁ: adﬁzst 2500 TORO TeYeh
shedd B Roemnde BHY VTR, 3o aae&oi:ﬁ:
20RTDNRY QO ﬁﬁmémzt@ﬁ: :‘933 facdas'.‘a
wé@;&% SRR Q0T NEHVBRILIR.

4. fa;?ﬁfa SAVONEA JoWw* fmﬂ@owafeawa

wﬁo&rafmﬁm ?}be’wf@mmﬁcﬁ

w&ﬁﬁa FRORPTY waﬁ@m&a 38, WRIEDBN
*‘*aeé’c}da DOTVWO  WOBY Ewomaﬁﬁ@ﬁ
mdmhdaﬂﬁs wzﬁlﬁﬁmﬁd&aﬂ DOY T
(case) nYDY, TOLT O DONT/Y T,

Eﬁmocﬁﬁﬁ@ﬁmﬁmmﬁ SeIPFRR MR,

6. odr*@zﬂe ROTHFTY BB, THITE FB) YT
TSR odm@tﬁe mﬁsﬁm EANe] mwaas
SNY,

7. B, TOXF /9033 HogoDhQ QoD B, D BT
wzm fﬁﬁ%@}?od}) FTowd asa@ocb Zhed
Naodfaﬁ 20803

E:.‘ﬂ

T
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